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1. S t r u k t u r a  v ý m ě n n  é h o  f o r m  á t u  informačn ího syst ému katastru nemovitost í
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SR]HPNX��9êP UD��SORãQê�REVDK��SR]HPNX�VH�XUþXMH�QD�FHOp�þWYHUHþQt�PHWU\��SRYROHQêP�Qi�
VRENHP�MH�KHNWDU��DU�VH�MLå�QHSRXåtYi�

3DUFHO\�MVRX�Y�NDWDVWUX�JHRPHWULFN\�D�SRORKRY �XUþHQ\�
D��þtVHOQêP�Y\MiG HQtP�KUDQLF�SR]HPN �GDQêP�VRX DGQLFHPL�MHMLFK�ORPRYêFK�ERG �Y�6�-76.�
SRS tSDG �L�~GDML�SUR�DXWRPDWL]RYDQp�]REUD]HQt�SRORKRSLVX�GLJLWiOQt�NDWDVWUiOQt�PDS\�QHER
E��~GDML�]i]QDPX�SRGUREQpKR�P HQt�]P Q�V�S tSDGQêP�YêSRþWHP�VRX DGQLF�SRGUREQêFK�ERG �Y
MLQpP�VRX DGQLFRYpP�V\VWpPX�QHå�6�-76.�QHER
F��]REUD]HQtP�KUDQLFH�SR]HPN �Y�NDWDVWUiOQt�PDS �

3R]QiPND�N�MHGQR]QDþQp�LGHQWLILNDFL�
3RNXG�GRãOR�NH�]P Q �KUDQLF�N�~��D�S tVOXãQi�SDUFHOD�HYLGRYDQi�YH�]MHGQRGXãHQp�HYLGHQFL
OHåt�Q\Qt�Y�MLQpP�N�~��QHå�S YRGQ ��MH�WDWR�LQIRUPDFH�R�S YRGQtP�N�~��VRXþiVWt�MHGQR]QDþ�
Qp�LGHQWLILNDFH�WDNRYp�SDUFHO\�

�%5
���&5
3RNXG��H[LVWXMt�GY �QHER�YtFH�SDUFHO�Y�MHGQRP�NDWDVWUiOQtP�~]HPt�VH�VKRGQêPL�KRGQRWDPL
VORXSF � .$78=(B.2'B389�� ='3$=(B.2'�� '58+B&,6/29$1,B3$5� D� .0(129(B&,6/2B3$5�� PXVt� PtW
YãHFKQ\�QHSUi]GQê�VORXSHF�32''(/(1,B&,6/$B3$5�
���&5
1HP åH�H[LVWRYDW�SUiY �MHGHQ�GtO�SDUFHO\�
���&5
6RXþHW�YêP U�GtO �SDUFHO\�VH�URYQi�YêP H�SDUFHO\�
���85
3RNXG�H[LVWXMt�GtO\�SDUFHO\��QHPi�WDEXOND�SDUFHO\�YD]E\�QD�MLQê�SUiYQt�Y]WDK�D�YODVWQLF�
WYt�



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

���5,
.RPELQDFH�]S VREX�Y\XåLWt�SDUFHO\�D�GUXKX�SR]HPNX�PXVt�EêW�SODWQi�
���&5
3DUFHO\�=(�MVRX�Yi]iQ\�QD�SDUFHOX��QLNROL�QD�GtO�SDUFHO\�
���&5
3RNXV�R�]iSLV�QHPRYLWRVWL�EH]�YD]E\�QD�.7�]S VREt�S L�NRQWROH�NRQWH[WX�YDURYiQt�
���&5
6RXþHW�YêP U�SDUFHO�Y� t]HQt� ����9DURYiQt�
���&5
3RNXG� H[LVWXMt� GtO\� SDUFHO\� QD� U ]QêFK� /9�� QHVPt� H[LVWRYDW� YtFH� QHå� MHGHQ� ERQLWQt� GtO
WpWR�SDUFHO\��9DURYiQt�
����&5
3RNXG� t]HQt�]SODW XMH�SDUFHOX�D�Y�EXGRXFQRVWL�MH�REUD]�WpWR�SDUFHO\��PXVt�WDWR�EXGRXF�
QRVW�EêW�WDNp�]SODW RYDQi�
����&5
3DUFHO\�=(�PXVt�PLW�SUi]GQp�VORXSFH�'5832=B.2'��=39<3$B.2'��=3859<B.2'�D�0$3/,6B.2'�
����&5
3DUFHO\�=(�QHVPt�PtW�]S VRE�RFKUDQ\�
����&5
3 L�UXãHQt�QHPRYLWRVWL�SORPERYDQp�MLQêP� t]HQtP�YDURYiQt�
����&5
3RNXV�R�]UXãHQt�QHPRYLWRVWL��NWHUi�MH�SORPERYDQi�MLQêP� t]HQtP�]S VREt�S L�NRQWUROH�NRQ�
WH[WX�YDURYiQt�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>SDUFHO\@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
3.1B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>SDUFHO\@�
3$5B7<3(�����������������������$12��9$5&+$5����������'�3$5�7<3(�����������������7\S\�SDUFHO�
.$78=(B.2'���������������������$12��180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'����.yG�NDWDVWUiOQtKR�~]HPt�
.$78=(B.2'B389�����������������1(���180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'����.yG�NDWDVWUiOQtKR�~]HPt�
'58+B&,6/29$1,B3$5�������������$12��180%(5�����������'�'58+�ýË6/29È1Ë�3$5&(/����'UXK�þtVORYiQt�SDUFHO�
.0(129(B&,6/2B3$5��������������$12��180%(5�����������'�.0(129e�ýË6/2�3$5&(/<����.PHQRYp�SDUFHOQt�þtVOR�
='3$=(B.2'���������������������1(���180%(5�����������'�='52-�3$5&(/<�=(�.Ï'�����=GURM�HYLGHQFH�SDUFHO�Y�=(�
32''(/(1,B&,6/$B3$5������������1(���180%(5�����������'�32'' /(1Ë�ýË6/$�3$5&(/<��3RGG OHQt�þtVOD�SDUFHO\�
',/B3$5&(/<��������������������1(���180%(5�����������'�ýË6/2�'Ë/8�3$5&(/<
0$3/,6B.2'���������������������1(���180%(5�����������'�,'�����������������������.yG�R]QDþHQt�PDSRYpKR�OLVWX�
=3859<B.2'���������������������1(���180%(5�����������'�.9$/,7$�85ý(1Ë�9é0 5<����.yG�]S VREX�XUþHQt�YêP U\�
'5832=B.2'���������������������1(���180%(5�����������'�'58+�32=(0.8�.Ï'���������.yG�GUXKX�SR]HPNX�
=39<3$B.2'���������������������1(���180%(5�����������'�=3 62%�9<8ä,7Ë�1(029,72��6SHFLILNDFH�Y\XåLWt��SR]HPNX�Y�UiPFL�GUXKX�SR]HPNX�
7<3B3$5&(/<��������������������1(���180%(5�����������'�7<3�3$5&(/<��������������7\S�SDUFHO\�
9<0(5$B3$5&(/<�����������������$12��180%(5�����������'�9é0 5$�������������������9êP UD�SDUFHO\�Y�PHWUHFK�þWYHUHþQtFK�
&(1$B1(029,7267,���������������1(���180%(5�����������'�&(1$�1(029,7267,���������&HQD�QHPRYLWRVWL�
'(),1,&1,B%2'B3$5��������������1(���9$5&+$5����������'�*(20(75,(�%2'������������'HILQLþQt�ERG�SDUFHO\�
7(/B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�
3$5B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�SDUFHO\
���������������������������������������������������������� �Y\SO XMH�VH�X�GtO ��
%8'B,'�������������������������1(���180%(5�����������'�,'
,'(17B%8'����������������������$12��9$5&+$5����������'�$12�1(

3ULPiUQt�NOtþ������������������������6ORXSFH�
3$5B3.�������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
3$5B8.�������������������������������.$78=(B.2'
�������������������������������������'58+B&,6/29$1,B3$5
�������������������������������������.0(129(B&,6/2B3$5
�������������������������������������32''(/(1,B&,6/$B3$5
�������������������������������������='3$=(B.2'
�������������������������������������.$78=(B.2'B389
�������������������������������������',/B3$5&(/<

&L]t�NOtþH���������������������������6ORXSFH�
3$5B).�������������������������������'5832=B.2'�������������������������QD�WDE��'B32=(0.8
3$5B).�������������������������������.$78=(B.2'�������������������������QD�WDE��.$7$675B8=(0,
3$5B).�������������������������������.$78=(B.2'B389���������������������QD�WDE��.$7$675B8=(0,
3$5B).�������������������������������0$3/,6B.2'�������������������������QD�WDE��0$329(B/,67<
3$5B).�������������������������������='3$=(B.2'�������������������������QD�WDE��='52-(B3$5&(/B=(
3$5B).�������������������������������7(/B,'�����������������������������QD�WDE��7(/(6$
3$5B).�������������������������������=3859<B.2'�������������������������QD�WDE��=3B85&(1,B9<0(5<
3$5B).�������������������������������=39<3$B.2'�������������������������QD�WDE��=3B9<8=,7,B32=



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

3$5B).�������������������������������3.1B,'�����������������������������QD�WDE��3$5&(/<
3$5B).�������������������������������5,=(1,B,'B9=1,.8�������������������QD�WDE��5,=(1,
3$5B).�������������������������������3$5B,'�����������������������������QD�WDE��3$5&(/<
3$5B).�������������������������������%8'B,'�����������������������������QD�WDE��%8'29<

-PpQR��%8'29<
��.yG��%8'
(QWLW\�LPSO��WDEXONRX�
%8'29$
1(029,7267
3RSLV�
1DG]HPQt�VWDYED�VSRMHQi�VH�]HPt�SHYQêP�]iNODGHP��NWHUi�MH�SURVWRURY �VRXVW HG QD�D�QDYH�
QHN�X]DY HQD�REYRGRYêPL�VW QDPL�D�VW HãQt�NRQVWUXNFt�

%XGRYD�UR]HVWDY Qi�MH�EXGRYD�DOHVSR �Y��WDNRYpP�VWXSQL�UR]HVWDY QRVWL��åH�MH�MLå�SDWUQp
VWDYHEQ �WHFKQLFNp�D�IXQNþQt�XVSR iGiQt�SUYQtKR�QDG]HPQtKR�SRGODåt��SRNXG�Mt�GRVXG�QHE\OR
S LG OHQR�þtVOR�SRSLVQp�QHER�HYLGHQþQt��D�EXGRYD��NWHUp�VH�þtVOR�SRSLVQp�QHER�HYLGHQþQt
QHS LG OXMH��SRNXG�QD�QL�GRVXG�QHE\OR�Y\GiQR�NRODXGDþQt�UR]KRGQXWt�

3R]QiPND�N�MHGQR]QDþQp�LGHQWLILNDFL�EXGRY\�
3UREOHPDWLND�HYLGHQFH�þiVWt�EXGRY�YH�YD]E �QD�YODVWQLFWYt�W FKWR�þiVWt��-HGQi�VH�]HMPpQD
R�RE\WQp�GRP\��NWHUp�PDMt�YtFH�YFKRG ��]�QLFKå�NDåGpPX�E\OR�S LG OHQR�VDPRVWDWQp�þtVOR
SRSLVQp�D�SR]HPHN�SRG�WtPWR�GRPHP�MH�UR]G OHQ�QD�YtFH�SDUFHO��5R]G OHQt�EXGRY\�QD�YtFH
VDPRVWDWQêFK�þiVWt�PXVt�EêW�SRGORåHQR�UR]KRGQXWtP�S tVOXãQpKR�VWDYHEQtKR�~ DGX��0 åH�VH
WHG\�MHGQDW�R�EXGRYX�V�YtFH�þtVO\�SRSLVQêPL��-HGQp�EXGRY �O]H�S LG OLW�SRX]H�MHGQR�þtVOR
SRSLVQp�QHER�HYLGHQþQt��3UREOpP�YtFH�þtVHO�SRSLVQêFK�X�MHGQp�EXGRY\�MH� HãHQ�HQWLWRX�ýiVW
EXGRY\��-HGQR]QDþQi�LGHQWLILNDFH�EXGRY\�EXGH�]DMLãW QD�LQWHUQtP�8,'�

3RNXG�MH�EXGRYD�UR]þOHQ QD�QD�MHGQRWN\��P åH�EêW�VRXþiVWt�HQWLW\�SRSLV�D�]REUD]HQt�UR]�
PtVW Qt�MHGQRWHN��3UiYQt�Y]WDK\�NH�VSROHþQêP�þiVWHP�EXGRY\�MVRX�Y]WDåHQ\�N�EXGRY �

�%5
���87
3 L�]P Q �VWDYX�GDW�Y�WDEXOFH�%XGRYD�MH�QXWQp�VKRGQêP�]S VREHP�]P QLW�VWDY�GDW�Y�S tVOXã�
QêFK�YêVN\WHFK�LQVWDQFt�Y�WDEXOFH�ýiVW�EXGRY\�
���'7
3 L�]UXãHQt�LQVWDQFH�Y�WDEXOFH�%XGRYD�MH�QXWQp�]UXãLW�YêVN\W�S tVOXãQêFK�LQVWDQFt�Y�WD�
EXOFH�ýiVWL�EXGRY\B%���&DVFDGH�GHOHWH��
���
3RYLQQRVW�Y\SOQ Qt�VORXSFH�&,6/2B'20291,��MH�GiQD�KRGQRWRX�VORXSFH�=$'$1,B&'�Y�þtVHOQtNX
7B%8'29�� +RGQRWD� ÃD
� VORXSFH� =$'$1,B&'� ]QDPHQi� SRYLQQp� Y\SOQ Qt� VORXSFH� &,6/2B'20291,�
KRGQRWD�ÃQ
�]QDPHQi�]iND]�Y\SOQ Qt�VORXSFH�&,6/2B'20291,�D�KRGQRWD�18//�]QDPHQi�QHSRYLQQp
]DGiQt�KRGQRW\�VORXSFH�&,6/2B'20291,�
���
%XGRYD�PXVt�EêW�Yi]iQD�DOHVSR �QD�MHGQX�SDUFHOX�
���
3UR� NDåGRX� EXGRYX� H[LVWXMH� SUiY � MHGQD� SDUFHOD�� NWHUi� ML� LGHQWLILNXMH� �WM�� Y� WDEXOFH
3$5&(/<�MH�MHGHQ�]i]QDP�V�%8'B,'�RGND]XMtFtP�QD�GDQRX�EXGRYX�D�,'(17B%8' $12��
���
3RNXV�R�]iSLV�QHPRYLWRVWL�EH]�YD]E\�QD�.7�]S VREt�S L�NRQWUROH�NRQWH[WX�YDURYiQt�
���
([LVWXMt�OL� MHGQRWN\� N� EXGRY �� SRWRP� MH� VRXþHW� MHMLFK� SRGtO � QD� VSROHþQêFK� SURVWRUiFK
URYHQ�MHGQp�
���
3RNXV�R�]UXãHQt�QHPRYLWRVWL��NWHUi�MH�SORPERYDQi�MLQêP� t]HQtP�]S VREt�S L�NRQWUROH�NRQ�
WH[WX�YDURYiQt�



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>EXGRY\@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
7<3%8'B.2'���������������������$12��180%(5�����������'�7<3�%8'29<�.Ï'�����������7\S�VWDYE\�
&$2%&(B.2'���������������������1(���180%(5�����������'�ýÈ67�2%&(�.Ï'������������.yG�þiVWL�REFH�
&,6/2B'20291,������������������1(���180%(5�����������'�ýË6/2�323,61e�1(%2�(9,'��ýtVOR�SRSLVQp�QHER�þtVOR�HYLGHQþQt�
&(1$B1(029,7267,���������������1(���180%(5�����������'�&(1$�1(029,7267,���������&HQD�QHPRYLWRVWL�
=39<%8B.2'���������������������1(���180%(5�����������'�=3 62%�9<8ä,7Ë�1(029,72��6SHFLILNDFH�Y\XåLWt��EXGRY\�
7(/B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>W OHVD@�

3ULPiUQt�NOtþ������������������������6ORXSFH�
%8'B3.�������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
%8'B).�������������������������������&$2%&(B.2'�������������������������QD�WDE��&$67,B2%&,
%8'B).�������������������������������7<3%8'B.2'�������������������������QD�WDE��7B%8'29
%8'B).�������������������������������5,=(1,B,'B9=1,.8�������������������QD�WDE��5,=(1,
%8'B).�������������������������������=39<%8B.2'�������������������������QD�WDE��=3B9<8=,7,B%8'
%8'B).�������������������������������7(/B,'�����������������������������QD�WDE��7(/(6$

-PpQR��=3B2&+5$1<B1(0
��.yG��=32&+1
(QWLW\�LPSO��WDEXONRX�
=3 62%�2&+5$1<�1(029,7267,
3RSLV�
ýtVHOQtN�]S VREX�RFKUDQ\�Y\]QDþXMH�Y]WDK�QHPRYLWRVWL�N�Y\EUDQêP�]S VRE P�RFKUDQ\�QHPRYL�
WRVWL�]�REODVWL�RFKUDQ\�S tURG\��NXOWXU\�QHER�]GUDYRWQLFWYt�D�XPtVW Qt�JHRGHWLFNpKR�ERGX
QD�SDUFHOH��NWHUp�MVRX�REVDåHQ\�Y�þtVHOQtNX�W\S �RFKUDQ\�QHPRYLWRVWL�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�=3 62%�2&+5$1<�1(029,72��.yG�]S VREX�RFKUDQ\�QHPRYLWRVWL�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�]S VREX�RFKUDQ\�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
32=(0(.������������������������$12��9$5&+$5����������'�$12�1(�������������������3RYROHQt�SRXåtW�]S VRE�RFKUDQ\�X�SR]HPNX�
%8'29$�������������������������$12��9$5&+$5����������'�$12�1(�������������������3RYROHQt�SRXåtW�]S VRE�RFKUDQ\�X�EXGRY\�
-('127.$�����������������������$12��9$5&+$5����������'�$12�1(�������������������3RYROHQt�SRXåtW�]S VRE�RFKUDQ\�X�MHGQRWN\�
1(02&+5������������������������1(���180%(5��������������������������������������2FKUDQD�QHPRYLWRVWL�

3ULPiUQt�NOtþ������������������������6ORXSFH�
=32&+1B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��'B32=(0.8
��.yG��'5832=
(QWLW\�LPSO��WDEXONRX�
'58+�32=(0.8
3RSLV�
&HQWUiOQ �VSUDYRYDQê�þtVHOQtN�'58+�32=(0.8�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�'58+�32=(0.8�.Ï'���������.yG�GUXKX�SR]HPNX�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�GUXKX�SR]HPNX�
=(0('(/6.$B.8/785$�������������$12��9$5&+$5����������'�$12�1(�������������������=HP G OVNi�NXOWXUD�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
7<333'B.2'���������������������1(���180%(5�����������'�7<3�359.8�352672529é&+���.yG�W\SX�SUYNX�SURVWRURYêFK�GDW�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
=.5$7.$������������������������1(���9$5&+$5����������'�=.5$7.$�
67$9(%1,B3$5&(/$���������������$12��9$5&+$5����������'�$12�1(�������������������6WDYHEQt�SDUFHOD�



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

3ULPiUQt�NOtþ������������������������6ORXSFH�
'5832=B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
'5832=B).����������������������������7<333'B.2'�������������������������QD�WDE�7B359.8B3B'$7

-PpQR��=3B9<8=,7,B32=
��.yG��=39<32
(QWLW\�LPSO��WDEXONRX�
=3 62%�9<8ä,7Ë�3$5&(/<
3RSLV�
ýtVHOQtN�GHILQXMH�SUR�SDUFHOX�GUXK�]S VREX�Y\XåLWt�Y�UiPFL�GUXKX�SR]HPNX�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�=3 62%�9<8ä,7Ë�1(029,72��.yG�]S VREX�Y\XåLWt�SDUFHO�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�]S VREX�Y\XåLWt�SDUFHO�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
7<333'B.2'���������������������1(���180%(5�����������'�7<3�359.8�352672529é&+���.yG�W\SX�SUYNX�SURVWRURYêFK�GDW�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
=.5$7.$������������������������1(���9$5&+$5����������'�=.5$7.$��

3ULPiUQt�NOtþ������������������������6ORXSFH�
=39<32B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
=39<32B).����������������������������7<333'B.2'�������������������������QD�WDE��7B359.8B3B'$7

-PpQR��='52-(B3$5&(/B=(
��.yG��='3$=(
(QWLW\�LPSO��WDEXONRX�
='52-�3$5&(/<�=(
3RSLV�
3RSLVXMH�]GURM�HYLGHQFH�SDUFHO�Y�S GQtFK�FHOFtFK��NWHUp�MVRX�]REUD]HQ\�Y�MLQpP�SRGNODGX
QHå�Y�NDWDVWUiOQt�PDS �D�MVRX�HYLGRYiQ\�]MHGQRGXãHQêP�]S VREHP��2GSRYtGi�VRXþDVQpPX�GUXKX
þtVORYiQt�SDUFHO�����V�WtP��åH�UR]OLãHQt�QD�VWDYHEQt�D�SR]HPNRYp�SDUFHO\�MH�GiQR�GUXKHP
þtVORYiQt�SDUFHO�

6RXþDVQê�VWDY�þtVHOQtNX�
��������3DUFHOD�HYLGHQFH�QHPRYLWRVWt��NWHUi�Y�WHUpQX�]DQLNOD�
��������3DUFHOD�%3.�
��������3 tG ORYê�SOiQ�QHER�MLQê�SRGNODG�

3R]Q���.yG\���D���FK\Et��SURWRåH�MVRX� HãHQ\�NRPELQDFt�VORXSFH�'UXK�þtVORYiQt�SDUFHO�Y
WDEXOFH�3DUFHOD�D�VORXSFH�.yG�Y�WDEXOFH�=GURM�SDUFHO\�=(�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�='52-�3$5&(/<�=(�.Ï'�����.yG�]GURMH�SDUFHO�=(�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�]GURMH�SDUFHO\�=(�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
=.5$7.$������������������������1(���9$5&+$5����������'�=.5$7.$�

3ULPiUQt�NOtþ������������������������6ORXSFH�
='3$=(B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

-PpQR��=3B85&(1,B9<0(5<
��.yG��=3859<
(QWLW\�LPSO��WDEXONRX�
=3 62%�85ý(1Ë�9é0 5<
3RSLV�
&HQWUiOQ �VSUDYRYDQê�þtVHOQtN�Y\MDG XMH�]S VRE�XUþHQt�YêP U\�SDUFHO\�.1�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�.9$/,7$�85ý(1Ë�9é0 5<����.yG�]S VREX�XUþHQt�YêP U\�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������3RSLV�]S VREX�XUþHQt�YêP U\�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�

3ULPiUQt�NOtþ������������������������6ORXSFH�
=3859<B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��7B%8'29
��.yG��7<3%8'
(QWLW\�LPSO��WDEXONRX�
7<3�%8'29<
3RSLV�
&HQWUiOQ � VSUDYRYDQê� þtVHOQtN� SRSLVXMtFt� W\S\� EXGRY�� Y� VRXþDVQpP� VWDYX� UHSUH]HQWRYDQê
SRVOHGQt� FLIURX� ]H� VWiYDMtFtKR� ]S VREX� Y\XåLWt� QHPRYLWRVWt� SUR� GUXK� SR]HPNX� ]DVWDY Qp
SORFK\�D�QiGYR t�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�7<3�%8'29<�.Ï'�����������.yG�W\SX�EXGRY\�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�W\SX�EXGRY\�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
=$'$1,B&'����������������������$12��9$5&+$5����������'�$12�1(�������������������8UþHQt�SRYLQQRVWL�]DGiQt�þtVOD�GRPRYQtKR�
=.5$7.$������������������������1(���9$5&+$5����������'�=.5$7.$�

3ULPiUQt�NOtþ������������������������6ORXSFH�
7<3%8'B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��0$329(B/,67<
��.yG��0$3/,6
(QWLW\�LPSO��WDEXONRX�
0$329é�/,67
3RSLV�
&HQWUiOQ �VSUDYRYDQê�þtVHOQtN�PDSRYêFK�OLVW �NDWDVWUiOQtFK�PDS�

2]QDþHQt� PDSRYpKR� OLVWX� REVDKXMH� ]QDNRYê� HW ]HF�� NWHUê� MHGQR]QDþQ � XUþXMH� PDSRYê� OLVW
PDS\�YHONpKR�P tWND�

3UR�6�-76.�VH�VNOiGi�]�Qi]YX�0/���������D�]�þtVOD�OLVWX��ýtVOR�OLVWX�VH�OLãt�SRGOH�P tW�
ND�

3 tNODG��%5817È/�������

3UR�6Y��âW SiQ�D�*XVWHQEHUJ�VH�VNOiGi�]�R]QDþHQt�VHNWRUX��VORXSFH�YUVWY\�D�OLVWX��2]QDþH�
Qt�OLVWX�VH�OLãt�SRGOH�P tWND�

3 tNODG��=�6��,,,����EH



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>PDSRYpKR�OLVWX@�
2=1$&(1,B0$329(+2B/,678��������$12��9$5&+$5�������������������������������������2]QDþHQt�PDSRYpKR�OLVWX�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
0$3$���������������������������1(���9$5&+$5�������������������������������������0DSD�

3ULPiUQt�NOtþ������������������������6ORXSFH�
0$3/,6B3.����������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
0$3/,6B8.����������������������������2=1$&(1,B0$329(+2B/,678

&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��.$7$675B8=(0,
��.yG��.$78=(
(QWLW\�LPSO��WDEXONRX�
.$7$675È/1Ë�Ò=(0Ë
3RSLV�
ýtVHOQtN�YãHFK�NDWDVWUiOQtFK�~]HPt��þtVHOQtN�REVDKXMH�H[LVWXMtFt�L�]UXãHQi�N�~���

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'����.yG�NDWDVWUiOQtKR�~]HPt�
2%&(B.2'�����������������������$12��180%(5�����������'�2%(&�.Ï'�����������������.yG�REFH�
1$=(9��������������������������$12��9$5&+$5����������'�.$7$675È/1Ë�Ò=(0Ë�1È=(9��1i]HY�NDWDVWUiOQtKR�~]HPt�
3/$71267B2'��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�

3ULPiUQt�NOtþ������������������������6ORXSFH�
.$78=(B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
.$78=(B).����������������������������2%&(B.2'���������������������������QD�WDE��2%&(

-PpQR��2%&(
��.yG��2%&(
(QWLW\�LPSO��WDEXONRX�
2%(&
3RSLV�
ýtVHOQtN��YãHFK�REFt��Y�ý5��H[LVWXMtFtFK�L�]DQLNOêFK��

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�2%(&�.Ï'�����������������.yG�REFH�
2.5(6<B.2'���������������������$12��180%(5�����������'�2.5(6�.Ï'����������������.yG�RNUHVX�
1$=(9��������������������������$12��9$5&+$5����������'�2%(&�1È=(9���������������1i]HY�REFH�
3/$71267B2'��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�

3ULPiUQt�NOtþ������������������������6ORXSFH�
2%&(B3.������������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
2%&(B).������������������������������2.5(6<B.2'�������������������������QD�WDE��2.5(6<



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

-PpQR��&$67,B2%&,
��.yG��&$62%&
(QWLW\�LPSO��WDEXONRX�
ýÈ67�2%&(
3RSLV�
ýtVHOQtN�YãHFK�þiVWt�REFt�Y�ý5��H[LVWXMtFtFK�L�]DQLNOêFK��

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�ýÈ67�2%&(�.Ï'������������.yG�þiVWL�REFH�
2%&(B.2'�����������������������$12��180%(5�����������'�2%(&�.Ï'�����������������.yG�REFH�
1$=(9��������������������������$12��9$5&+$5����������'�ýÈ67�2%&(�1È=(9����������1i]HY�þiVWL�REFH�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�

3ULPiUQt�NOtþ������������������������6ORXSFH�
&$2%&(B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
&$62%&B).����������������������������2%&(B.2'���������������������������QD�WDE��2%&(

-PpQR��2.5(6<
��.yG��2.5(6<
(QWLW\�LPSO��WDEXONRX�
2.5(6
3RSLV�
ýtVHOQtN��YãHFK�RNUHV �Y�ý5��H[LVWXMtFtFK�L�]DQLNOêFK��

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�2.5(6�.Ï'����������������.yG�RNUHVX�
.5$-(B.2'����������������������$12��180%(5�����������'�.5$-�.Ï'�����������������.yG�NUDMH�
1$=(9��������������������������$12��9$5&+$5����������'�2.5(6�1È=(9��������������1i]HY�RNUHVX�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�

3ULPiUQt�NOtþ������������������������6ORXSFH�
2.5(6<B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
2.5(6<B8.����������������������������1$=(9

&L]t�NOtþH���������������������������6ORXSFH�
2.5(6<B).����������������������������.5$-(B.2'��������������������������QD�WDE��.5$-(

-PpQR��5B=32&+5
��.yG��5=2
(QWLW\�LPSO��WDEXONRX�
3RSLV�
=S VRE\�RFKUDQ\�

���&5
=S VRE\�RFKUDQ\�SDUFHO�MVRX�Yi]iQ\�QD�SDUFHOX��QLNROL�QD�GtO�SDUFHO\�
���&5
1HPRYLWRVWL�PRKRX�PtW�MHQ�WDNRYp�]S VRE\�RFKUDQ\��NWHUp�MVRX�SUR�Q �SRYROHQ\�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>UB]SRFKU@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
=32&+5B.2'���������������������$12��180%(5�����������'�=3 62%�2&+5$1<�1(029,72��=S VRE�RFKUDQ\�QHPRYLWRVWL



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

3$5B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>SDUFHO\@�
%8'B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>EXGRY\@�
-('B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>MHGQRWN\@�

3ULPiUQt�NOtþ������������������������6ORXSFH�
5=2B3.�������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
5=2B).�������������������������������=32&+5B.2'�������������������������QD�WDE��=3B2&+5$1<B1(0
5=2B).�������������������������������3$5B,'�����������������������������QD�WDE��3$5&(/<
5=2B).�������������������������������%8'B,'�����������������������������QD�WDE��%8'29<
5=2B).�������������������������������-('B,'�����������������������������QD�WDE��-('127.<

-PpQR��=3B9<8=,7,B%8'
��.yG��=39<%8
(QWLW\�LPSO��WDEXONRX�
=3 62%�9<8ä,7Ë�%8'29<
3RSLV�
ýtVHOQtN�GHILQXMH�SUR�EXGRYX�]S VRE�Y\XåLWt�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�=3 62%�9<8ä,7Ë�1(029,72��.yG�]S VREX�Y\XåLWt�EXGRY\�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�]S VREX�Y\XåLWt�EXGRY\�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
=.5$7.$������������������������1(���9$5&+$5����������'�=.5$7.$�

3ULPiUQt�NOtþ������������������������6ORXSFH�
=39<%8B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-('127.<

-('1

-PpQR��-('127.<
��.yG��-('
(QWLW\�LPSO��WDEXONRX�
-('127.$
1(029,7267
3RSLV�
-HGQRWNRX�VH�UR]XPt�E\W�QHER�QHE\WRYê�SURVWRU�Y\þOHQ Qê�QD�]iNODG �S tVOXãQp�OLVWLQ\�MDNR
MHGQRWND�

9� SRSLVX� MHGQRWN\� MH� XYHGHQD� MHMt� MHGQR]QDþQi� LGHQWLILNDFH� Y� UiPFL� EXGRY\� D� SRSLV�� R
MDNRX�MHGQRWNX�VH�MHGQi��E\W��DWHOLpU��JDUiå��SURYR]RYQD��GtOQD��MLQê�QHE\WRYê�SURVWRU��

6RXþiVWt� ]iSLVX� YODVWQLFWYt� MHGQRWN\� MH� L� VSROXYODVWQLFNê� SRGtO� QD� VSROHþQêFK� þiVWHFK
GRPX��9êþHW�VSROHþQêFK�þiVWt�PXVt�EêW�S HVQê�D�~SOQê�D�VWHMQêP�]S VREHP�PXVt�EêW�XUþHQ\
VSROHþQp�þiVWL�GRPX��NWHUp�MVRX�VSROHþQp�MHQ�YODVWQtN P�Q NWHUêFK�MHGQRWHN��9ODVWQLFWYt
VSROHþQêFK�SURVWRU�MH�Y]WDåHQR�N�EXGRY �



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

9HOLNRVW�VSROXYODVWQLFNpKR�SRGtOX�YODVWQtND�MHGQRWN\�QD�VSROHþQêFK�þiVWHFK�GRPX��VH� tGt
Y]iMHPQêP�SRP UHP�YHOLNRVWL�SRGODKRYp�SORFK\�MHGQRWN\�N�FHONRYp�SORãH�YãHFK�MHGQRWHN�Y
GRP �� 6SROXYODVWQLFNp� SRGtO\� MVRX� Y\MiG HQ\� ]ORPNHP�� 6RXþiVWt� QiYUKX� QD� YNODG� SUiYD� N
E\WX�D�QHE\WRYpPX�SURVWRUX�MH�L�S GRU\V�YãHFK�SRGODåt��SRS tSDG �MHMLFK�VFKpPDWD�XUþXMtFt
SRORKX�D�SRGODKRYRX�SORFKX�MHGQRWHN�D�VSROHþQêFK�þiVWt�GRPX�
3RGUREQ Mãt�LQIRUPDFH�R�MHGQRWNiFK�D�R�VSROHþQêFK�SURVWRUiFK�MVRX�XORåHQ\�Y�WDEXOFH�%XGR�
Y\�
3R]QiPND�N�MHGQR]QDþQp�LGHQWLILNDFL�MHGQRWN\�
-HGQRWND� PXVt� EêW� Y� EXGRY � R]QDþHQD� MHGQR]QDþQ �� W]Q�� QHMOpSH� RþtVORYiQtP�� DOH� ]iNRQ
XPRå XMH�LGHQWLILNDFL�MHGQRWHN�SRSLVHP�MHMLFK�XPtVW Qt�Y�EXGRY ��'iOH�MH�W HED�SRþtWDW�V
PRåQRVWt��åH�Y�EXGRY �V�YtFH�þtVO\�SRSLVQêPL�MVRX�MHGQRWN\�þtVORYiQ\�RGG OHQ �SUR�NDåGp
þtVOR� SRSLVQp�� -HGQRWND� MH� SDN� MHGQR]QDþQ � LGHQWLILNRYiQD� SRX]H� V� XYHGHQtP� S tVOXãQpKR
þtVOD�SRSLVQpKR��0 åH�Wpå�QDVWDW�S tSDG��NG\�MVRX�E\W\�D�QHE\WRYp�SURVWRU\��MDNR�MHGQRW�
N\��þtVORYiQ\�YH�GYRX�VDPRVWDWQêFK�þtVHOQêFK� DGiFK�

�%5
���&5
3RNXV�R�]iSLV�QHPRYLWRVWL�EH]�YD]E\�QD�.7�]S VREt�S L�NRQWUROH�NRQWH[WX�YDURYiQt�
���
3RNXV�R�]UXãHQt�QHPRYLWRVWL��NWHUi�MH�SORPERYDQi�MLQêP� t]HQtP�]S VREt�S L�NRQWUROH�NRQ�
WH[WX�YDURYiQt�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>MHGQRWN\@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
%8'B,'�������������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>EXGRY\@�
7<3-('B.2'���������������������$12��180%(5�����������'�7<3�-('127.<�������������.yG�W\SX�MHGQRWN\�
&,6/2B-('127.<�����������������1(���180%(5�����������'�ýË6/2�-('127.<�����������3R DGRYp�þtVOR�E\WRYp�QHER�QHE\WRYp�MHGQRWN\�]
��������������������������������������������������������������������������������3URKOiãHQt�YODVWQtND�
&(1$B1(029,7267,���������������1(���180%(5�����������'�&(1$�1(029,7267,���������&HQD�QHPRYLWRVWL�
=39<-(B.2'���������������������1(���180%(5�����������'�=3 62%�9<8ä,7Ë�1(029,72��6SHFLILNDFH�Y\XåLWt��EXGRY\�
7(/B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>W OHVD@�
32',/B&,7$7(/������������������1(���180%(5�����������'�359.<�32'Ë/8
32',/B-0(129$7(/���������������1(���180%(5�����������'�359.<�32'Ë/8
323,6��������������������������1(���9$5&+$5����������'�323,6�32=1È0.$�����������3RSLV�MHGQRWN\�

3ULPiUQt�NOtþ������������������������6ORXSFH�
-('B3.�������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
$.B-('B8.����������������������������%8'B,'
�������������������������������������&,6/2B-('127.<

&L]t�NOtþH���������������������������6ORXSFH�
-('B).�������������������������������%8'B,'�����������������������������QD�WDE��%8'29<
-('B).�������������������������������7<3-('B.2'�������������������������QD�WDE��7B-('127(.
-('B).�������������������������������=39<-(B.2'�������������������������QD�WDE��=3B9<8=,7,B-('
-('B).�������������������������������7(/B,'�����������������������������QD�WDE��7(/(6$

-PpQR��7B-('127(.
��.yG��7<3-('
(QWLW\�LPSO��WDEXONRX�
7<3�-('127.<
3RSLV�
&HQWUiOQ �VSUDYRYDQê�þtVHOQtN�W\S �E\WRYêFK�D�QHE\WRYêFK�MHGQRWHN�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�7<3�-('127.<�������������.yG�W\SX�MHGQRWN\�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�W\SX�MHGQRWN\�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
=.5$7.$������������������������1(���9$5&+$5����������'�=.5$7.$�



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

3ULPiUQt�NOtþ������������������������6ORXSFH�
7<3-('B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��=3B9<8=,7,B-('
��.yG��=39<-(
(QWLW\�LPSO��WDEXONRX�
=3 62%�9<8ä,7Ë�-('127.<
3RSLV�
ýtVHOQtN�GHILQXMH�SUR�MHGQRWNX�]S VRE�Y\XåLWt�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�=3 62%�9<8ä,7Ë�1(029,72��.yG�]S VREX�Y\XåLWt�MHGQRWN\�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�]S VREX�Y\XåLWt�MHGQRWN\�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
=.5$7.$������������������������1(���9$5&+$5����������'�=.5$7.$�
'23/.2'������������������������1(���180%(5��������������������������������������'RSO NRYê�NyG�

3ULPiUQt�NOtþ������������������������6ORXSFH�
=39<-(B3.����������������������������.2'
8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

%21,71Ë�'Ë/<�3$5&(/

%'3$

-PpQR��%21,7B',/<B3$5&
��.yG��%'3
(QWLW\�LPSO��WDEXONRX�
%21,71Ë�'Ë/�3$5&(/<
3RSLV�
7DEXOND�VORXåt�N�XORåHQt�LQIRUPDFt�R�ERQLWQtFK�GtOHFK�SDUFHO\�

3RSLVXMH�Y]WDK�PH]L�%3(-�D�SDUFHORX�

�%5
���'(/(7(
,QVWDQFH� Y� WDEXOFH� VH� RGORåt� GR� PLQXORVWL�� SRNXG� QHH[LVWXMH� SDUFHOD�� MHMtå� YD]EX
SRSLVXMH�
���&5
���85
6RXþHW�ERQLWQtFK�GtO �SDUFHO\�MH�URYHQ�YêP H�SDUFHO\�
���&5
%3(-�MH�Yi]iQ�QD�SDUFHOX��QLNROL�QD�GtO�SDUFHO\�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
3$5B,'�������������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>SDUFHO\@�
%3(-B.2'�����������������������$12��9$5&+$5����������'�%3(-�.Ï'�����������������-HGQR]QDþQê�NyG�%3(-�
9<0(5$�������������������������$12��180%(5�����������'�9é0 5$�������������������9êP UD�ERQLWQtKR�GtOX�



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

3ULPiUQt�NOtþ������������������������6ORXSFH�
%'3B3.�������������������������������3$5B,'
�������������������������������������%3(-B.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
%'3B).�������������������������������%3(-B.2'���������������������������QD�WDE��%3(-
%'3B).�������������������������������3$5B,'�����������������������������QD�WDE��3$5&(/<

9/$671,&79Ë

9/67

-PpQR��235$9B68%-(.7<
��.yG��2368%
(QWLW\�LPSO��WDEXONRX�
235È91 1é�68%-(.7
235È91 1È�)<=,&.È�262%$
3$571( ,�9�%60
235È91 1È�35È91,&.È�262%$
3RSLV�
)\]LFNi�QHER�SUiYQLFNi�RVRED�MDNR�YODVWQtN�QHER�MLQê�RSUiYQ Qê�

0DQåHOp�Y�EH]SRGtORYpP�VSROXYODVWQLFWYt�QHER�MLQpP�RSUiYQ Qt�
6ORXSFH� ,'B='52-� D� 9(5=(B='52-� VH� XSODWQt� SUR� SUiFL� VH� VSROHþQêPL� GDW\�� ,GHQWLILNXMt
LQVWDQFL� RSUiYQ QpKR� VXEMHNWX� QD� SUDFRYLãWL�� NWHUp� SUYQt� SURYHGOR� ]P QX� Y� RSUiYQ QpP
VXEMHNWX�

�%5
���&5
9åG\�PXVt�SODWLW�DOHVSR �MHGHQ�]H�Y]WDK �N�HQWLWiP�9/$671,&79Ë�QHER�-,1é�35È91Ë�9=7$+�
���&5��VSROHþQi�GDWD�YDULDQWD��D�
3RNXG��H[LVWXMt�DOHVSR �GYD�2SUiYQ Qp�VXEMHNW\�W\SX�3UiYQLFNi�RVRED�VH�VKRGQêP�,ý2��Pi
VORXSHF�'9(B,167$1&(�KRGQRWX�$12��MLQDN�KRGQRWX�1(�
���5,
7\SX�2SUiYQ QpKR�VXEMHNWX�PRKRX�EêW�S L D]HQ\�MHQ�SUiYQt�Y]WDK\�GHILQRYDQp�&KDUDNWHULVWL�
NRX�SUiYQtKR�Y]WDKX��3UR�XUþLWp�W\S\�2SUiYQ QêFK�VXEMHNW �D�N�Q PX�S L D]HQê�3UiYQt�Y]WDK
PXVt� H[LVWRYDW� MLQi� YD]ED� 2SUiYQ QpKR� VXEMHNWX� D� 3UiYQtKR� Y]WDKX� �GHILQRYiQR� Y� HQWLW
&KDUDNWHULVWLND�SUiYQtKR�Y]WDKX��

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>RSUiYQ QpKR�VXEMHNWX@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
,'B-(B�B3$571(5B%60������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�
,'B-(B�B3$571(5B%60������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�
,'B='52-�����������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>LGHQWLILNDFH�QD
��������������������������������������������������������������������������������]GURMRYpP�SUDFRYLãWL@�
2368%B7<3(���������������������$12��9$5&+$5����������'�2368%�7<3(���������������7\S�RSUiYQ QêFK�VXEMHNW �
&+$526B.2'���������������������$12��180%(5�����������'�&+$5$.7(5,67,.$�235È91 ��5R]OLãHQt�RSUiYQ QpKR�VXEMHNWX�
,&2����������������������������1(���180%(5�����������'�,ý2����������������������,ý2�
'23/1(.B,&2��������������������1(���180%(5�����������'�,ý2�'23/1 .��������������'RSOQ N�,ý2�
1$=(9��������������������������1(���9$5&+$5����������'�2%&+2'1Ë�-0e12�����������2EFKRGQt�MPpQR�
1$=(9B8������������������������1(���9$5&+$5����������'�2%&+2'1Ë�-0e12�����������2EFKRGQt�MPpQR�
52'1(B&,6/2��������������������1(���9$5&+$5����������'�5ý�����������������������5RGQp�þtVOR�
7,78/B35('B-0(1(0��������������1(���9$5&+$5����������'�7,78/�3 ('���������������7LWXO�S HG�MPpQHP�
-0(12��������������������������1(���9$5&+$5����������'�-0e12��������������������-PpQR�
-0(12B8������������������������1(���9$5&+$5����������'�-0e12��������������������-PpQR�
35,-0(1,�����������������������1(���9$5&+$5����������'�3 Ë-0(1Ë�����������������3 tMPHQt�
35,-0(1,B8���������������������1(���9$5&+$5����������'�3 Ë-0(1Ë�����������������3 tMPHQt�
7,78/B=$B-0(1(0����������������1(���9$5&+$5����������'�7,78/�=$�����������������7LWXO�]D�MPpQHP�
&,6/2B'20291,������������������1(���180%(5�����������'�ýË6/2�323,61e�1(%2�(9,'��ýtVOR�SRSLVQp�QHER�þtVOR�HYLGHQþQt�



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

&,6/2B25,(17$&1,���������������1(���9$5&+$5����������'�25,(17$ý1Ë�ýË6/2���������ýtVOR�RULHQWDþQt�
1$=(9B8/,&(��������������������1(���9$5&+$5����������'�8/,&(�$�93�1È=(9���������1i]HY�XOLFH�QHER�YH HMQpKR�SURVWUDQVWYt�
&$67B2%&(����������������������1(���9$5&+$5����������'�ýÈ67�2%&(�1È=(9����������1i]HY�þiVWL�REFH�
2%(&���������������������������1(���9$5&+$5����������'�2%(&�1È=(9���������������1i]HY�REFH�
2.5(6��������������������������1(���9$5&+$5����������'�2.5(6�1È=(9��������������1i]HY�RNUHVX�
67$7���������������������������1(���9$5&+$5����������'�67È7�=.5È&(1é�1È=(9������1i]HY�VWiWX�
36&����������������������������1(���180%(5�����������'�36ý����������������������3RãWRYQt�VP URYDFt�þtVOR�

3ULPiUQt�NOtþ������������������������6ORXSFH�
2368%B3.�����������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
2368%B).�����������������������������&+$526B.2'�������������������������QD�WDE��&+$5B26
2368%B).�����������������������������,'B-(B�B3$571(5B%60����������������QD�WDE��235$9B68%-(.7<
2368%B).�����������������������������,'B-(B�B3$571(5B%60����������������QD�WDE��235$9B68%-(.7<

-PpQR��9/$671,&79,
��.yG��9/$
(QWLW\�LPSO��WDEXONRX�
35È91Ë�9=7$+
9/$671,&79Ë
3RSLV�
9ODVWQLFWYt�Y\MDG XMH�HOHPHQWiUQt�YODVWQLFNê�Y]WDK��YODVWQLFNê�SRGtO��PH]L�MHGQtP�RSUiY�
Q QêP�VXEMHNWHP�D�MHGQRX�QHPRYLWRVWt�

�%5
���&5
���85
3 L�]iSLVX�VH�NRQWUROXMH�VRXþHW�SRGtO �YODVWQLFNêFK�Y]WDK ��3UR�YODVWQLFNê�Y]WDK�R]QDþHQê
YH�VORXSFL�VHNFH�����PXVt�EêW�VRXþHW�SRGtO �URYHQ���
���&5
3RNXG�MH�QDSOQ Q�VORXSHF�3$5B,'�D�SRNXG�H[LVWXMt�GtO\�SDUFHO\��NWHUi�MH�LGHQWLILNRYiQD
3$5B,'��SRWRP�MH�QDSOQ Q�VORXSHF�'3B',/B3$5&(/<�
���
3RNXG� VH� MHGQi� R� YODVWQLFWYt� .7� QD� NWHUpP� MH� EXGRYD� YH� NWHUp� MVRX� MHGQRWN\�� � SRWRP�
YODVWQLFNê� SRGtO� SUR� GDQê� 26� QD� NDWDVWUiOQtP� W OHVH�� QD� NWHUpP� MH� XYHGHQD� EXGRYD�� MH
URYHQ�VRXþWX�VRXþLQ �YODVWQLFNpKR�SRGtOX�SUR�GDQê�26�QD�NDWDVWUiOQtFK�W OHVHFK��QD�NWH�
UêFK� MVRX� XYHGHQ\� MHGQRWN\�� QiOHåHMtFt� EXGRY � D� SRGtOX� W FKWR� MHGQRWHN� QD� VSROHþQêFK
SURVWRUiFK�
���&5
5Xãt�OL�VH�YODVWQLFWYt�26��NH�.7��UXãt�VH�YãHFKQ\�YD]E\�OLVWLQ�N�WRPXWR�26�QD�.7�D�SRNXG
QHH[LVWXMt�MLQp�26�QD�WRPWR�.7�V�YD]ERX�QD�WXWpå�OLVWLQX��UXãt�VH�L�YD]ED�QHPRYLWRVWt�QD
WXWR�OLVWLQX�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>YODVWQLFWYt@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
2368%B,'�����������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>RSUiYQ QpKR
��������������������������������������������������������������������������������VXEMHNWX@�
7<35$9B.2'���������������������$12��9$5&+$5����������'�7<3�35È91Ë+2�9=7$+8�.Ï'��7\S�SUiYQtKR�Y]WDKX�
7(/B,'�������������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>W OHVD@�
32',/B&,7$7(/������������������1(���180%(5�����������'�359.<�32'Ë/8�������������ýLWDWHO�SRGtOX�YODVWQLFWYt�VSROXYODVWQtND�
32',/B-0(129$7(/���������������1(���180%(5�����������'�359.<�32'Ë/8�������������-PHQRYDWHO�SRGtOX�YODVWQLFWYt�VSROXYODVWQtND�

3ULPiUQt�NOtþ������������������������6ORXSFH�
9/$B3.�������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
9/$B).�������������������������������2368%B,'���������������������������QD�WDE��235$9B68%-(.7<
9/$B).�������������������������������7(/B,'�����������������������������QD�WDE��7(/(6$
9/$B).�������������������������������7<35$9B.2'�������������������������QD�WDE��7B35$91,&+B9=7



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

-PpQR��&+$5B26
��.yG��&+$526
(QWLW\�LPSO��WDEXONRX�
&+$5$.7(5,67,.$�235È91 1e+2�68%-(.78
3RSLV�
ýtVHOQtN�EOLåãt�FKDUDNWHULVWLN\�RSUiYQ QpKR�VXEMHNWX���SUiYQLFNp�RVRE\�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�&+$5$.7(5,67,.$�235È91 ��5R]OLãHQt�RSUiYQ QpKR�VXEMHNWX�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�W\SX�RSUiYQ QpKR�VXEMHNWX�
2368%B7<3(���������������������$12��9$5&+$5����������'�2368%�7<3(���������������7\S�RSUiYQ QpKR�VXEMHNWX�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
=.5$7.$������������������������1(���9$5&+$5����������'�=.5$7.$�

3ULPiUQt�NOtþ������������������������6ORXSFH�
&+$526B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��7(/(6$
��.yG��7(/
(QWLW\�LPSO��WDEXONRX�
3RSLV�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>W OHVD@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
.$78=(B.2'���������������������$12��180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'
&,6/2B7(/����������������������1(���180%(5�����������'�ýË6/2�9/$671,&79Ë

3ULPiUQt�NOtþ������������������������6ORXSFH�
7(/B3.�������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
7(/B8.�������������������������������.$78=(B.2'
�������������������������������������&,6/2B7(/

&L]t�NOtþH���������������������������6ORXSFH�
7(/B).�������������������������������.$78=(B.2'�������������������������QD�WDE��.$7$675B8=(0,

-,1e�35È91Ë�9=7$+<

-39=

-PpQR��-,1(B35$9B9=7$+<
��.yG��-39
(QWLW\�LPSO��WDEXONRX�
35È91Ë�9=7$+
-,1é�35È91Ë�9=7$+
3RSLV�
-LQê�SUiYQt�Y]WDK�Y\MDG XMH�MLQê�QHå�YODVWQLFNê�Y]WDK�MHGQRKR�VXEMHNWX��RSUiYQ QpKR�VXE�
MHNWX� QHER� QHPRYLWRVWL�� N� MHGQRPX� S HGP WX� �N� MHGQp� QHPRYLWRVWL�� N� YODVWQLFWYt� QHER� N
GDOãtPX�MLQpPX�SUiYQtPX�Y]WDKX��
9]WDK� N� S HGP WX� �W\SX� YODVWQLFWYt�� QHER� �MLQê� SUiYQt� Y]WDK�� MH� UHDOL]RYiQ� WDEXONRX
�20(=(1Ë�35È9��



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

8�MLQpKR�SUiYQtKR�Y]WDKX�QHPXVt�EêW�XYHGHQ�VXEMHNW�

7\S\� MLQêFK� SUiYQtFK� Y]WDK �� W\S\� VXEMHNW � D� S HGP W� MLQpKR� SUiYQtKR� Y]WDKX� MVRX� GiQ\
þtVHOQtNHP�SUiYQtFK�Y]WDK �

�%5
���&5
���85
3RNXG�MH�QDSOQ Q�VORXSHF�3$5B,'B.�D�SRNXG�H[LVWXMt�GtO\�SDUFHO\��NWHUi�MH�LGHQWLILNRYiQD
3$5B,'B.��SRWRP�MH�QDSOQ Q�VORXSHF�'3B',/B3$5&(/<B.�
���&5
���85
3RNXG�MH�QDSOQ Q�VORXSHF�3$5B,'B352�D�SRNXG�H[LVWXMt�GtO\�SDUFHO\��NWHUi�MH�LGHQWLILNRYi�
QD�3$5B,'B352��SRWRP�MH�QDSOQ Q�VORXSHF�'3B',/B3$5&(/<B352�
���&5
2PH]XMH�OL�-39�MLQê�-39��SRWRP�QHP åH�EêW�RPH]HQ�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>MLQpKR�SUiYQtKR�Y]WDKX@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
3$5B,'B352���������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>SDUFHO\@�
%8'B,'B352���������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>EXGRY\@�
-('B,'B352���������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>MHGQRWN\@�
3$5B,'B.�����������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>SDUFHO\@�
%8'B,'B.�����������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>EXGRY\@�
-('B,'B.�����������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>MHGQRWN\@�
7<35$9B.2'���������������������$12��9$5&+$5����������'�7<3�35È91Ë+2�9=7$+8�.Ï'��7\S�SUiYQtKR�Y]WDKX�
323,6B35$91,+2B9=7$+8����������1(���9$5&+$5����������'�323,6�32=1È0.$�'/28+È����6ORYQt�SRSLV�SUiYQtKR�Y]WDKX�
7(/B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>W OHVD@�
2368%B,'B352�������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�qtVOR�>RSUiYQ QpKR
��������������������������������������������������������������������������������VXEMHNWX@�
2368%B,'B.���������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�qtVOR�>RSUiYQ QpKR
��������������������������������������������������������������������������������VXEMHNWX@�

3ULPiUQt�NOtþ������������������������6ORXSFH�
-39B3.�������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
-39B).�������������������������������%8'B,'B.���������������������������QD�WDE��%8'29<
-39B).�������������������������������%8'B,'B352�������������������������QD�WDE��%8'29<
-39B).�������������������������������3$5B,'B.���������������������������QD�WDE��3$5&(/<
-39B).�������������������������������-('B,'B.���������������������������QD�WDE��-('127.<
-39B).�������������������������������-('B,'B352�������������������������QD�WDE��-('127.<
-39B).�������������������������������2368%B,'B352�����������������������QD�WDE��235$9B68%-(.7<
-39B).�������������������������������2368%B,'B.�������������������������QD�WDE��235$9B68%-(.7<
-39B).�������������������������������3$5B,'B352�������������������������QD�WDE��3$5&(/<
-39B).�������������������������������7<35$9B.2'�������������������������QD�WDE��7B35$91,&+B9=7
-39B).�������������������������������7(/B,'�����������������������������QD�WDE��7(/(6$

-PpQR��7B35$91,&+B9=7
��.yG��7<35$9
(QWLW\�LPSO��WDEXONRX�
7<3�35È91Ë+2�9=7$+8
3RSLV�
7\S�SUiYQtKR�Y]WDKX�QDS tNODG�]DKUQXMH�
��YODVWQLFWYt�
��]iVWDYQt�D�SRG]iVWDYQt�SUiYR�
��Y FQp�E HPHQR�
��Y FQp�S HGNXSQt�SUiYR�
��RPH]HQt�GLVSR]LþQtFK�SUiY�N�QHPRYLWRVWHP�
��SUiYR�KRVSRGD HQt�V�PDMHWNHP�VWiWX�
��SUiYR�WUYDOpKR�XåtYiQt�
��VSUiYD�PDMHWNX�YH�YODVWQLFWYt�VWiWX�
��RSUiYQ Qt�P VWVNêFK�þiVWt�3UDK\�D�VWDWXWiUQtFK�P VW�KRVSRGD LW�V�PDMHWNHP�



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

7\S�SUiYQtKR�Y]WDKX�MH�þtVHOQtN��NWHUê�EXGH�Y\WYi HQ�YH�VSROXSUiFL�V�SUiYQtN\�ýÒ=.��%XGH
KLHUDUFKLFN\� þOHQ Q� V� WtP�� åH� Y\ããt� ~URYH � Y� KLHUDUFKLL� þtVHOQtNX� EXGH� R]QDþHQD� MDNR
S HGP W� t]HQt�S L�S tSUDY �DNWXDOL]DFH�

�.�+67��&�%1

�%5
���5,� 3RNXG� MH� Y� VORXSFL� YODVWQLFWYL� KRGQRWD� 
D
�� MVRX� SODWQp� KRGQRW\� VORXSFH� VHNFH
�����!�� SRNXG� MH� Y� VORXSFL� YODVWQLFWYL� KRGQRWD� 
Q
�� MVRX� SODWQp� KRGQRW\� VORXSFH� VHNFH
^%�&�'`�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��9$5&+$5����������'�7<3�35È91Ë+2�9=7$+8�.Ï'��.yG�W\SX�SUiYQtKR�Y]WDKX�
735B.2'������������������������$12��180%(5�����������'�7<3�3 ('0 78� Ë=(1Ë�.Ï'��.yG�W\SX�S HGP WX� t]HQt�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�W\SX�SUiYQtKR�Y]WDKX�
9/$671,&79,��������������������$12��9$5&+$5����������'�$12�1(�������������������9ODVWQLFWYt�
352B26�������������������������$12��9$5&+$5����������'�$12�1(�������������������3UR�26�
352B1(029,7267�����������������$12��9$5&+$5����������'�$12�1(�������������������3UR�QHPRYLWRVW�
.B1(029,7267,������������������$12��9$5&+$5����������'�$12�1(�������������������.�QHPRYLWRVWL�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
6(.&(��������������������������1(���9$5&+$5����������'�6(.&(��������������������6HNFH�XUþXMtFt�XPtVW Qt�LQVWDQFH�QD�YêSLVX�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
9/9=7$+������������������������1(���180%(5��������������������������������������9ODVWQLFNê�Y]WDK�
.B26���������������������������$12��9$5&+$5����������'�$12�1(

3ULPiUQt�NOtþ������������������������6ORXSFH�
7<35$9B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
7<35$9B7<335(B).���������������������735B.2'����������������������������QD�WDE��7B35('0(78B5

Ë=(1Ë

5,=(

-PpQR��5,=(1,
��.yG��5,=(1,
(QWLW\�LPSO��WDEXONRX�
=È=1$0�352�'$/âË� Ë=(1Ë
$'0,1,675$7,91Ë� Ë=(1Ë
5(9,=(�.$7$6758
3258â(1Ë�32 È'.8
2'(6/$1È�32â7$
=È=1$0
2%129$�23(5È78
32=(0.29e�Ò35$9<
267$71Ë�52=+2'187Ë
326.<7187Ë�,1)250$&(
32'./$'�352�0 (1Ë
32795=(1Ë�*3
9./$'
Ë=(1Ë

3RSLV�
7DEXOND� t]HQt�REVDKXMH�~GDMH�R�KODYLþFH� t]HQt��]iNODGQt�DWULEXW\�NDåGpKR� t]HQt���3RX]H
t]HQt� 3RGDFt� GHQtN� D� 6PORXYD� PDMt� SUR� DWULEXW\� KODYLþN\� t]HQt�� NWHUp� MVRX� QDG� UiPHF
PQRåLQ\�DWULEXW �WDEXON\� t]HQt��VSHFLiOQt�WDEXON\�



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

�%5
���5,�� t]HQt�
9]WDK� t]HQt���.DWDVWUiOQt�~]HPt��9D]ED�SODWt�SRX]H�SUR� t]HQt�W\SX�
9NODG�� =i]QDP�� 2VWDWQt� UR]KRGQXWt�� 3R]HPNRYp� ~SUDY\�� 2EQRYD� RSHUiWX�� 5HYL]H� NDWDVWUX�
3RWYU]HQt�*3��=' ��38��30�
���5,�� t]HQt�
3ODWED�P åH�EêW�QDYi]iQD�MHQ�QD�WHQ�W\S� t]HQt��NWHUê�Pi�=SRSODWQ Qt�QDVWDYHQR�QD�$QR�
���5,
-H�OL� KRGQRWD� VORXSFH� 2692%2=(12� 7UXH�� SDN� PXVt� H[LVWRYDW� YD]ED� QD� WDEXONX
38B'892'<B2692%�
���5,��$GPLQLVWUDWLYQt� t]HQt�
t]HQt�QHPi�REMHNW� t]HQt�
���5,
-H�OL�KRGQRWD�VORXSFH�2692%2=(12�)DOVH��SDN�VORXSHF�'89269B.2'�MH�18//�
������3RWYU]HQt�*3�
3RWYU]RYiQ�P åH�EêW�MHQ�MHGHQ�*3�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
7<35,=B.2'���������������������$12��9$5&+$5����������'�7<3� Ë=(1Ë�.Ï'�����������.yG�W\SX� t]HQt�
325$'29(B&,6/2�����������������$12��180%(5�����������'�,17(*(5������������������3R DGt� t]HQt�GDQpKR�FKDUDNWHUX�
52.����������������������������$12��'$7(�������������'�3/$71e�'$780�������������5RN�]DKiMHQt� t]HQt�
67$9���������������������������1(���9$5&+$5����������'�1È=(9�.5È7.é�������������$NWXiOQt�VWDY� t]HQt�
)81.&(B.2'���������������������1(���180%(5�����������'�)81.&(�.Ï'���������������.yG�SRVOHGQt�UHDOL]RYDQp�IXQNFH�
7<323(B.2'���������������������1(���180%(5�����������'�7<3�23(5$&(�.Ï'����������.yG�SRVOHGQt�UHDOL]RYDQp�RSHUDFH�
)81.&(B.2'B9<=1$01$������������1(���180%(5�����������'�)81.&(�.Ï'���������������.yG�SRVOHGQt�Yê]QDPQp�UHDOL]RYDQp�IXQNFH�
7<323(B.2'B9<=1$01$������������1(���180%(5�����������'�7<3�23(5$&(�.Ï'����������.yG�SRVOHGQt�Yê]QDPQp�UHDOL]RYDQp�RSHUDFH�
8=,6<6B86(51$0(����������������1(���9$5&+$5����������'�86(51$0(�����������������-PpQR�XåLYDWHOH��NWHUê�Pi�S L D]HQR� t]HQt�
8=,52/B1$=(9�������������������1(���9$5&+$5����������'�86(51$0(�����������������-PpQR�UROH��NWHUi�Pi�S L D]HQR� t]HQt�
2692%2=(12���������������������1(���9$5&+$5����������'�$12�1(�������������������2VYRER]HQR�RG�SODWE\��$�1��
+2'127$B.2/.8������������������1(���180%(5�����������'�+2'127$�.2/.8������������+RGQRWD�NRONRYp�]QiPN\�
'$780��������������������������1(���'$7(�������������'�3/$71e�'$780�������������'DWXP��GDOãt�Yê]QDP�SRGOH�W\SX� t]HQt��
'$780��������������������������1(���'$7(�������������'�3/$71e�'$780�������������'DWXP��GDOãt�Yê]QDP�SRGOH�W\SX� t]HQt��
323,6��������������������������1(���9$5&+$5����������'�323,6�32=1È0.$�����������3RSLV��GDOãt�Yê]QDP�SRGOH�W\SX� t]HQt��

3ULPiUQt�NOtþ������������������������6ORXSFH�
5,=(1,B3.����������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
5,=(1,B7<35,=B).���������������������7<35,=B.2'�������������������������QD�WDE��7<3<B5,=(1,

-PpQR��5,=(1,B.8
��.yG��5,=.8
(QWLW\�LPSO��WDEXONRX�
3RSLV�
9D]HEQt�WDEXOND�

�%5
���5,
t]HQt�=' ��22��383�PXVt�S tVOXãHW�N�SUiY �MHGQRPX�NDWDVWUiOQtPX�~]HPt�

���5,��=i]QDP�
t]HQt�PXVt�S tVOXãHW�DOHVSR �N�MHGQRPX�NDWDVWUiOQtPX�~]HPt�
���5,��9NODG�
t]HQt�PXVt�S tVOXãHW�DOHVSR �N�MHGQRPX�NDWDVWUiOQtPX�~]HPt�
���5,��25�
t]HQt�PXVt�S tVOXãHW�DOHVSR �N�MHGQRPX�NDWDVWUiOQtPX�~]HPt�
���5,��3RWYU]HQt�*3�
t]HQt�PXVt�S tVOXãHW�DOHVSR �N�MHGQRPX�NDWDVWUiOQtPX�~]HPt�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.$78=(B.2'���������������������$12��180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'����.yG�NDWDVWUiOQtKR�~]HPt�
5,=(1,B,'����������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>REMHNWX� t]HQt@�

3ULPiUQt�NOtþ������������������������6ORXSFH�
.$75,=�������������������������������5,=(1,B,'
�������������������������������������.$78=(B.2'



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
.$75,=B.$78=(B).���������������������.$78=(B.2'�������������������������QD�WDE��.$7$675B8=(0,
.$75,=B5,=(1,B).���������������������5,=(1,B,'��������������������������QD�WDE��5,=(1,

-PpQR��2%-(.7<B5,=(1,
��.yG��2%-5,=
(QWLW\�LPSO��WDEXONRX�
2%-(.7� Ë=(1Ë
3RSLV�
2EMHNWHP� t]HQt�MH�QHPRYLWRVW�~þDVWQi� t]HQt�D�WR�SDUFHOD��MHGQRWND�QHER�EXGRYD��7DEXOND
MH�YD]HEQt�WDEXONRX�PH]L� t]HQtP�D�QHPRYLWRVWt��3 L�SORPERYiQt� t]HQt��YNODG��]i]QDP��O]H
]DSORPERYDW�Y\EUDQp�REMHNW\� t]HQt�

9�REMHNWX� t]HQt�QHMVRX�]DSViQ\�QRY �Y]QLNDMtFt�QHPRYLWRVWL�

6H]QDP� t]HQt��Y�MHMLFKå�UiPFL�O]H�]DSVDW�REMHNW\� t]HQt�MH�GiQ�GHILQLFt�YROiQt�PRGXO �Y
GHVLJQX�DSOLNDFH�

�%5
��9$
3UiY �MHGHQ�VORXSHF�]�3$5B,'��%8'B,'��-('B,'�PXVt�EêW�Y\SOQ Q�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>REMHNWX� t]HQt@�
5,=(1,B,'����������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
3$5B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>SDUFHO\@�
%8'B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>EXGRY\@�
-('B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>MHGQRWN\@�
'$780B3/20%<�������������������1(���'$7(�������������'�3/$71e�'$780�������������'DWXP�]DSORPERYiQt�QHER�]iSLVX�REMHNW �GR� t]HQt�
'$780B2'675$1(1,B3/20%<��������1(���'$7(�������������'�3/$71e�'$780�������������'DWXP�RGVWUDQ Qt�SORPE\�

3ULPiUQt�NOtþ������������������������6ORXSFH�
2%-5,=B3.����������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
2%-5,=B8.����������������������������5,=(1,B,'
�������������������������������������3$5B,'
�������������������������������������%8'B,'
�������������������������������������-('B,'

&L]t�NOtþH���������������������������6ORXSFH�
2%-5,=B5,=(1,B).���������������������5,=(1,B,'��������������������������QD�WDE��5,=(1,
2%-5,=B%8'29<B).���������������������%8'B,'�����������������������������QD�WDE��%8'29<
2%-5,=B3$5&(/<B).��������������������3$5B,'�����������������������������QD�WDE��3$5&(/<
2%-5,=B-('127.<B).�������������������-('B,'�����������������������������QD�WDE��-('127.<

-PpQR��35('0(7<B5,=(1,
��.yG��35(5,=
(QWLW\�LPSO��WDEXONRX�
3 ('0 7� Ë=(1Ë
3RSLV�
7DEXOND�3 HGP W\� t]HQt�REVDKXMH�S L D]HQp�W\S\�S HGP WX� t]HQt�Y\EUDQp�]�þtVHOQtNX�7\S\
S HGP WX� t]HQt��3 HGP W� t]HQt�SRGUREQ ML�VSHFLILNXMH�QiSO �GDQpKR� t]HQt�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
5,=(1,B,'����������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
7<335(B.2'���������������������$12��180%(5�����������'�7<3�3 ('0 78� Ë=(1Ë�.Ï'��.yG�W\SX�S HGP WX� t]HQt�

3ULPiUQt�NOtþ������������������������6ORXSFH�
35(5,=B3.����������������������������5,=(1,B,'
�������������������������������������7<335(B.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
35(5,=B5,=(1,B).���������������������5,=(1,B,'��������������������������QD�WDE��5,=(1,
35(5,=B7<35('B).���������������������7<335(B.2'�������������������������QD�WDE��7B35('0(78B5



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

-PpQR��8&$671,&,
��.yG��8&$67
(QWLW\�LPSO��WDEXONRX�
Òý$671Ë.�35È91,&.È�262%$
Òý$671Ë.
Òý$671Ë.�)<=,&.È�262%$
3RSLV�
ÒþDVWQtN\�VH�UR]XPt�I\]LFNp�QHER�SUiYQLFNp�RVRE\��S tSDGQ �MHMLFK�RUJDQL]DþQt�MHGQRWN\�
GRWþHQp�S tVOXãQêP� t]HQtP��-H�OL�Q MDNi�RVRED�~þDVWQi�YtFH� t]HQt��MVRX�~GDMH�Y�HQWLW
ÒþDVWQtN�]D]QDPHQiQ\�RSDNRYDQ �

�%5
���9$
3RNXG� VH� QHPi� GDQê� ~þDVWQtN� RY RYDW� SURWL� UHJLVWUX� VXEMHNW � PXVt� EêW� KRGQRWD� VORXSHF
2YHUHQLBSURWLB56�Y�WDEXOFH�3292/(1B8&$671,&,�QDVWDYHQD�QD��QH���7RWpå�SODWt�SUR�RY HQt
SURWL�26�
���9$
3RNXG�MH�ÒþDVWQtNHP�SURWL�2SUiYQ QêP�VXEMHNW P�RY HQ�PDQXiOQ ��MH�KRGQRWD�VORXSFH�2YHUH�
QLBSURWLBRV�QDVWDYHQD�QD��~VS ãQ �RY HQ�XåLYDWHOHP��
���9$
3RNXG� MH� ÒþDVWQtN� GRKOHGiQ� Y� 2SUiYQ QêFK� VXEMHNWHFK� DXWRPDWLFN\� V\VWpPHP�� MH� KRGQRWD
VORXSFH�2YHUHQLBSURWLB26�QDVWDYHQD�QD��~VS ãQ �RY HQ�V\VWpPHP���7RWpå�SODWt�SUR�RY HQt
SURWL�56�
���9$
3RNXG� QHQt� ÒþDVWQtN� GRKOHGiQ� Y� 2SUiYQ QêFK� VXEMHNWHFK� DXWRPDWLFN\� V\VWpPHP�� MH� KRGQRWD
VORXSFH�2YHUHQLBSURWLB26�QDVWDYHQD�QD��QH~VS ãQ �RY HQ�V\VWpPHP���7RWpå�SODWt�SUR�RY H�
Qt�SURWL�56�
���5,
-H�OL�KRGQRWD�VORXSFH�'58+B8&$671,.$� ����SUiYQLFNi�RVRED��SDN�PXVt�EêW�Y\SOQ Q�VORXSHF
2%&+2'1,B-0(12�� -H�OL� KRGQRWD� VORXSFH� '58+B8&$671,.$�  � �� �I\]LFNi� RVRED�� SDN� PXVt� EêW
Y\SOQ Q\�VORXSFH�-0(12�D�35,-0(1,�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>~þDVWQtND@�
5,=(1,B,'����������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
'58+B8&$671,.$�����������������$12��180%(5�����������'�'58+�Òý$671Ë.$�����������'UXK�~þDVWQtND� t]HQt��I\]LFNi��SUiYQLFNi�RVRED��
-0(12��������������������������1(���9$5&+$5����������'�-0e12��������������������-PpQR�~þDVWQtND�
-0(12B8������������������������1(���9$5&+$5����������'�-0e12��������������������1RUPDOL]RYDQp�MPpQR�~þDVWQtND�
35,-0(1,�����������������������1(���9$5&+$5����������'�3 Ë-0(1Ë�����������������3 tMPHQt�~þDVWQtND�
35,-0(1,B8���������������������1(���9$5&+$5����������'�3 Ë-0(1Ë�����������������1RUPDOL]RYDQp�S tMPHQt�~þDVWQtND�
7,78/B35('B-0(1(0��������������1(���9$5&+$5����������'�7,78/�3 ('���������������7LWXO�S HG�MPpQHP�~þDVWQtND�
7,78/B=$B-0(1(0����������������1(���9$5&+$5����������'�7,78/�=$�����������������7LWXO�]D�MPpQHP�~þDVWQtND�
5&�����������������������������1(���9$5&+$5����������'�5ý�����������������������5RGQp�þtVOR�~þDVWQtND�
52'1(B35,-0(1,�����������������1(���9$5&+$5����������'�3 Ë-0(1Ë�����������������5RGQp�S tMPHQt�~þDVWQtND�
52',11<B67$9�������������������1(���180%(5�����������'�52',11é�67$9�������������5RGLQQê�VWDY�~þDVWQtND�
2%&+2'1,B-0(12�����������������1(���9$5&+$5����������'�2%&+2'1Ë�-0e12�����������2EFKRGQt�MPpQR�ILUP\�
2%&+2'1,B-0(12B8���������������1(���9$5&+$5����������'�2%&+2'1Ë�-0e12�����������1RUPDOL]RYDQp�REFKRGQt�MPpQR�ILUP\�
',&����������������������������1(���180%(5�����������'�',ý����������������������'D RYp�LGHQWLILNDþQt�þtVOR�
,&2����������������������������1(���180%(5�����������'�,ý2����������������������,GHQWLILNDþQt�þtVOR�RUJDQL]DFH�
'23/1(.B,&2��������������������1(���180%(5�����������'�,ý2�'23/1 .��������������'RSOQ N�,ý2�
29(5(1B32'3,6������������������1(���9$5&+$5����������'�$12�1(�������������������2Y HQt�SRGSLVX�SURWL�SRGSLVRYpPX�Y]RUX�
29(5(1B3527,B56����������������1(���180%(5�����������'�29 (1Ë�Òý$671Ë.$��������,QIRUPDFH��]GD�OL�E\O�~þDVWQtN�RY HQ�SURWL�UHJLVWUX
��������������������������������������������������������������������������������VXEMHNW �
29(5(1B3527,B26����������������1(���180%(5�����������'�29 (1Ë�Òý$671Ë.$��������,QIRUPDFH��]GD�OL�E\O�~þDVWQtN�RY HQ�SURWL
��������������������������������������������������������������������������������RSUiYQ QêP�VXEMHNW P�
2368%B,'�����������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>RSUiYQ QpKR
��������������������������������������������������������������������������������VXEMHNWX@�

3ULPiUQt�NOtþ������������������������6ORXSFH�
8&$67B3.�����������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
8&$67B5,=(1,B).����������������������5,=(1,B,'��������������������������QD�WDE��5,=(1,
8&$67B2368%B).�����������������������2368%B,'���������������������������QD�WDE��235$9B68%-(.7<



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

-PpQR��$'5(6<
��.yG��$'58&
(QWLW\�LPSO��WDEXONRX�
$'5(6$�Òý$671Ë.$
3RSLV�
$GUHVD�~þDVWQtND� t]HQt��-HGHQ�~þDVWQtN�P åH�PtW�YtFH�W\S �DGUHV���MHGQRWOLYp�W\S\�MVRX
GiQ\�KRGQRWRX�DWULEXWX�7<3�$'5(6<�

�%5
���2/
-HGQD�]�KRGQRW�PXVt�EêW�XYHGHQD�2EHF�QHER�ýiVW�REFH�
���2/
-H�OL�XYHGHQR�þtVOR�RULHQWDþQt�SRWRP�PXVt�EêW�XYHGHQê�Qi]HY�XOLFH�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
8&$67B,'�����������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>~þDVWQtND@�
7<3B$'5(6<���������������������$12��180%(5�����������'�$'5(6$�7<3���������������.YDOLILNiWRU�W\SX�DGUHV\�
2.5(6��������������������������1(���9$5&+$5����������'�2.5(6�1È=(9��������������1i]HY�RNUHVX�
2%(&���������������������������1(���9$5&+$5����������'�2%(&�1È=(9���������������1i]HY�REFH�
&$67B2%&(����������������������1(���9$5&+$5����������'�ýÈ67�2%&(�1È=(9����������1i]HY�þiVWL�REFH�
&,6/2B'20291,������������������1(���180%(5�����������'�ýË6/2�323,61e�1(%2�(9,'��ýtVOR�SRSLVQp�QHER�þtVOR�HYLGHQþQt�
1$=(9B8/,&(��������������������1(���9$5&+$5����������'�8/,&(�$�93�1È=(9���������1i]HY�XOLFH�QHER�YH HMQpKR�SURVWUDQVWYt�
&,6/2B25,(17$&1,���������������1(���9$5&+$5����������'�25,(17$ý1Ë�ýË6/2���������ýtVOR�RULHQWDþQt�
36&����������������������������1(���180%(5�����������'�36ý����������������������3RãWRYQt�VP URYp�þtVOR�
67$7���������������������������1(���9$5&+$5����������'�67È7�=.5È&(1é�1È=(9������1i]HY�VWiWX�
7(/()21������������������������1(���9$5&+$5����������'�)$;�7(/()21��������������7HOHIRQ�
)$;����������������������������1(���9$5&+$5����������'�)$;�7(/()21��������������)D[�

3ULPiUQt�NOtþ������������������������6ORXSFH�
$'58&B3.�����������������������������8&$67B,'
�������������������������������������7<3B$'5(6<

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
$'58&B8&$67B).�����������������������8&$67B,'���������������������������QD�WDE��8&$671,&,

-PpQR��/,67,1<
��.yG��/,67,1
(QWLW\�LPSO��WDEXONRX�
/,67,1$
3RSLV�
7DEXOND�/,67,1<�REVDKXMH�]iNODGQt�~GDMH�FKDUDNWHUL]XMtFt�OLVWLQX�MDNR�SRGNODG�UR]KRGRYiQt
D�QHER�]iSLV�GR�.1�Y�UiPFL� t]HQt�

�%5
���5,
9D]ED�QD� t]HQt�SODWt�SRX]H�SUR� t]HQt�W\SX�YNODG�QHER�]i]QDP�
���5,
1HP åH�H[LVWRYDW�OLVWLQD�EH]�YD]E\�QD� t]HQt��QD�YD]HEQt�WDEXONX��

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>OLVWLQ\@�
7<3/,67B.2'��������������������$12��180%(5�����������'�7<3�/,67,1<�.Ï'����������.yG�W\SX�OLVWLQ\�
323,6��������������������������1(���9$5&+$5����������'�7(;7���������������������3RSLV�OLVWLQ\�
2%6$+��������������������������$12��9$5&+$5����������'�$12�1(�������������������,QGLNiWRU�H[LVWHQFH�REVDKX�GRNXPHQWX�
675$1��������������������������1(���180%(5�����������'�,17(*(5������������������3RþHW�VWUDQ�
'$780B9<+2729(1,���������������1(���'$7(�������������'�3/$71e�'$780�������������'DWXP�SODWQRVWL�QHER�QDE\Wt�SUiYQt�PRFL�
=+2729,7(/���������������������1(���9$5&+$5����������'�1È=(9�'/28+é�������������-PpQR�]KRWRYLWHOH�OLVWLQ\�
325$'29(B&,6/2B=+2729,7(/(�����1(���180%(5�����������'�,17(*(5������������������3R DGRYp�þtVOR�]KRWRYLWHOH�OLVWLQ\�
52.B=+2729,7(/(����������������1(���'$7(�������������'�3/$71e�'$780�������������5RN�Y\KRWRYHQt�OLVWLQ\�MDNR�VRXþiVW�MHGQDFtKR�þtVOD
��������������������������������������������������������������������������������]KRWRYLWHOH�
'23/1(1,B=+2729,7(/(�����������1(���9$5&+$5����������'�1È=(9�'/28+é�������������'RSOQ Qt�MHGQDFtKR�þtVOD�OLVWLQ\�]KRWRYLWHOH�
=.5$7.$������������������������1(���9$5&+$5�������������������������������������=NUDWND�]KRWRYLWHOH�
5,=(1,B,'����������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
=0(1$B35$9B9=7$+8��������������1(���9$5&+$5����������'�$12�1(�������������������,QGLNDFH��]GD�OLVWLQD�P Qt�SUiYQt�Y]WDK\�

3ULPiUQt�NOtþ������������������������6ORXSFH�
/,67,1B3.����������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
/,67,1B8.����������������������������5,=(1,B,'
�������������������������������������=.5$7.$



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

�������������������������������������=+2729,7(/
�������������������������������������325$'29(B&,6/2B=+2729,7(/(
�������������������������������������52.B=+2729,7(/(
�������������������������������������'23/1(1,B=+2729,7(/(

&L]t�NOtþH���������������������������6ORXSFH�
/,67,1B7B/,67,1B).�������������������7<3/,67B.2'������������������������QD�WDE��7B/,67,1
/,67,1B5,=(1,B).���������������������5,=(1,B,'��������������������������QD�WDE��5,=(1,

-PpQR��'$/6,B8'$-(B/,67,1<
��.yG��'8/
(QWLW\�LPSO��WDEXONRX�
1$%é9$&Ë�7,78/

3RSLV�
ýtVHOQtN�GDOãtFK�~GDM �R�OLVWLQ �

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��9$5&+$5����������'�'$/âË�Ò'$-(�/,67,1<�.Ï'��.yG�QDEêYDFtKR�WLWXOX�
1$=(9��������������������������1(���9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�QDEêYDFtKR�WLWXOX�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�

3ULPiUQt�NOtþ������������������������6ORXSFH�
'8/B3.�������������������������������.2'
8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��/,67,1<B'$/6,B8'$-(
��.yG��/'8
(QWLW\�LPSO��WDEXONRX�
/,67,1$

3RSLV�
9D]HEQt�WDEXOND�SUR�Y\WYR HQt�YD]E\�PH]L�OLVWLQRX�D�GDOãtP�~GDMHP�OLVWLQ\�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
/,67,1B,'����������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�
'8/B.2'������������������������$12��9$5&+$5����������'�'$/âË�Ò'$-(�/,67,1<�.Ï'��.yG�GDOãtKR�~GDMH�OLVWLQ\�

3ULPiUQt�NOtþ������������������������6ORXSFH�
/,6'8B3.�����������������������������/,67,1B,'
�������������������������������������'8/B.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
/,6'8B'8/B).�������������������������'8/B.2'����������������������������QD�WDE��'$/6,B8'$-(B/,67,1<
/,6'8B/,67,1B).����������������������/,67,1B,'��������������������������QD�WDE��/,67,1<

-PpQR��7B/,67,1
��.yG��7<3/,6
(QWLW\�LPSO��WDEXONRX�
7<3�/,67,1<
3RSLV�
ýtVHOQtN� W\SX� OLVWLQ� SUR� ]D D]HQt� OLVWLQ� GR� NDWHJRULt� GOH� SRXåLWt�� Yê]QDPX� D� SUiYQtFK
~NRQ �VSRMHQêFK�V�OLVWLQDPL�

-HGQi�VH�QDS tNODG�R�W\S\�
6PORXYD�R�S HYRGX�YODVWQLFWYt�QHPRYLWRVWL�
6PORXYD�R�]iVWDYQtP�QHER�SRG]iVWDYQtP�SUiYX�
6PORXYD�R�RSUiYQ Qt��NWHUp�RGSRYtGi�Y FQpPX�E HPHQX�
6PORXYD�R�S HGNXSQtP�SUiYX�N�QHPRYLWRVWHP�V�Y FQêPL�~þLQN\�
6PORXYD�R�S HYRGX�E\WX�D�QHE\WRYêFK�SURVWRU�MDNR�S HGP WX�YODVWQLFWYt�
'RKRGD�R�Y\GiQt�Y FL�
3URKOiãHQt�YNODGDWHOH�R�YORåHQt�QHPRYLWRVWL�GR�]iNODGQtKR�NDSLWiOX�REFKRGQt�VSROHþQRVWL�
'RKRGD�R�Y\SR iGiQt�%60�
6PORXYD�D�MLQp�OLVWLQ\�R�S HFKRGX�YODVWQLFNpKR�SUiYD�N�QHPRYLWRVWHP�
5R]KRGQXWt�RUJiQX�VWiWQt�VSUiY\�



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

3RWYU]HQt�R�SURGHML�QHPRYLWRVWL�YH HMQRX�GUDåERX�
2VY GþHQt�YH�IRUP �QRWi VNpKR�]iSLVX��R�Y\GUåHQt��S tU VWNX�D�]SUDFRYiQt��

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�7<3�/,67,1<�.Ï'����������.yG�W\SX�OLVWLQ\�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�W\SX�OLVWLQ\�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
323,6��������������������������1(���9$5&+$5����������'�323,6�32=1È0.$�����������3RSLV�W\SX�OLVWLQ\�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�
'58+/,67�����������������������1(���180%(5��������������������������������������'UXK�OLVWLQ\�

3ULPiUQt�NOtþ������������������������6ORXSFH�
7<3/,6B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��7B35('0(78B5
��.yG��7<335(
(QWLW\�LPSO��WDEXONRX�
7<3�3 ('0 78� Ë=(1Ë
3RSLV�
7\S�S HGP WX� t]HQt�XPRå XMH�EOtåH�FKDUDNWHUL]RYDW� t]HQt��NH�NWHUpPX�MH�S L D]HQ�

3UR� t]HQt� W\SX� SRGDFt� GHQtN� � VH� W\SHP� S HGP WX� t]HQt� UR]XPt� VSHFLILNDFH� StVHPQRVWL
]DSVDQp�Y�SRGDFtP�GHQtNX��QDS ��SRGiQt�SRGOH�MHGQDFtKR� iGX��StVHPQRVWL�WêNDMtFt�VH�RUJD�
QL]DFH��XWDMRYDQp�StVHPQRVWL��IDNWXU\��REMHGQiYN\�SUDFt��StVHPQRVWL�LQIRUPDWLYQtKR�FKD�
UDNWHUX��

3UR� t]HQt� W\SX� YNODG� MH� W\SHP� S HGP WX� t]HQt� FKDUDNWHULVWLND� SUiYD� ]DSLVRYDQpKR� GR
NDWDVWUX�GDQêP� t]HQtP��-HGQi�VH�QDS ��R��YODVWQLFNp�SUiYR��EH]SRGtORYp�VSROXYODVWQLFWYt
PDQåHO ���Y FQp�E HPHQR��S HGNXSQt�SUiYR��SUiYR�]S WQp�NRXS ��RPH]HQt�S HYRGX�QHPRYLWRV�
WL��VPORXYD�R�S MþFH��SRKOHGiYND�DSRG�

3UR� t]HQt�W\SX�]i]QDP�FKDUDNWHUL]XMH�W\S�S HGP WX� t]HQt�SUiYR�QHER�SR]QiPNX�]DSLVRYDQRX
GR�NDWDVWUX�

3UR� t]HQt�W\SX�RVWDWQt�UR]KRGQXWt�XUþXMH�W\S�S HGP WX� t]HQt�R�MDNê�GUXK� t]HQt�VH�MHGQi
�]P QD�KUDQLFH�NDWDVWUiOQtKR�~]HPt��RSUDYD�FK\E\�Y�RSHUiWX��QiPLWND�N�RSHUiWX�SR�PDSRYi�
Qt��R]QDþHQt�KUDQLFH�YODVWQtND��

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�7<3�3 ('0 78� Ë=(1Ë�.Ï'��.yG�W\SX�S HGP WX� t]HQt�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������1i]HY�W\SX�S HGP WX� t]HQt�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
323,6��������������������������1(���9$5&+$5����������'�323,6�32=1È0.$�����������3RSLV�W\SX�S HGP WX� t]HQt�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�

3ULPiUQt�NOtþ������������������������6ORXSFH�
7<335(B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��7<3<B5,=(1,
��.yG��7<35,=
(QWLW\�LPSO��WDEXONRX�
7<3� Ë=(1Ë
3RSLV�
6SHFLILNDFH�W\SX���GUXKX� t]HQt�

,QVWDQFH�DSOLNDþQtKR�þtVHOQtNX�
.yG�����1i]HY
22������2EQRYD�RSHUiWX
25������2VWDWQt�UR]KRGQXWt



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

3'������3RGDFt�GHQtN
3�������3RUXãHQt�SR iGNX
23������2GHVODQi�SRãWD
3*3�����3RWYU]HQt�*3
52������5HYL]H�RSHUiWX
383�����3R]HPNRYp�~SUDY\
9�������9NODG
=�������=i]QDP
=' �����=i]QDP�SUR�GDOãt� t]HQt
38������3RVN\WRYiQt�~GDM
30������3RGNODG\�SUR�P HQt
6�������6PORXYD

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��9$5&+$5����������'�7<3� Ë=(1Ë�.Ï'�����������.yG�W\SX� t]HQt�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�.5È7.é�������������1i]HY�W\SX� t]HQt�
323,6��������������������������1(���9$5&+$5����������'�323,6�32=1È0.$�����������3RSLV�W\SX� t]HQt�
=323/$71(1,��������������������1(���9$5&+$5����������'�$12�1(�������������������8UþHQt��]GD�MH�GDQê�W\S� t]HQt�]SRSODWQ Q�

3ULPiUQt�NOtþ������������������������6ORXSFH�
7<35,=B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��7<3<B8&$671,.8
��.yG��7<38&$
(QWLW\�LPSO��WDEXONRX�
7<3�Òý$671Ë.$
3RSLV�
6SHFLILNDFH�W\SX�~þDVWQtND� t]HQt�

6ORXSFH�����������������������3RY"���7\S�����9HO������'RPpQD���������������������3RSLV�
.2'����������������������������$12��9$5&+$5����������'�7<3�Òý$671Ë.$�.Ï'��������.yG�W\SX�~þDVWQtND�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�.5È7.é�������������1i]HY�W\SX�~þDVWQtND�
323,6��������������������������1(���9$5&+$5����������'�323,6�32=1È0.$�����������3RSLV�W\SX�~þDVWQtND�

3ULPiUQt�NOtþ������������������������6ORXSFH�
7<38&$B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��8&$671,&,B7<3
��.yG��8&7<3
(QWLW\�LPSO��WDEXONRX�
3RSLV�
9D]HEQt�WDEXOND�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
8&$67B,'�����������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>~þDVWQtND@�
7<38&$B.2'���������������������$12��9$5&+$5����������'�7<3�Òý$671Ë.$�.Ï'��������.yG�W\SX�~þDVWQtND�

3ULPiUQt�NOtþ������������������������6ORXSFH�
8&7<3B3.�����������������������������8&$67B,'
�������������������������������������7<38&$B.2'



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
8&7<3B8&$67B).�����������������������8&$67B,'���������������������������QD�WDE��8&$671,&,
8&7<3B7<38&$B).����������������������7<38&$B.2'�������������������������QD�WDE��7<3<B8&$671,.8

-PpQR��5B/,67
��.yG��5/
(QWLW\�LPSO��WDEXONRX�
3RSLV�
9D]HEQt�WDEXOND�PH]L��QHPRYLWRVWPL�D�YODVWQLFWYtPL�QD�QDEêYDFt�WLWXO\�

�%5
���&5
-H�OL�QHPRYLWRVW�S HVXQXWD�]�MHGQRKR�.7��.7���QD�MLQp��.7����SRWRP�VH�UXãt�YãHFKQ\�YD]E\
QD�OLVWLQ\�N�WpWR�QHPRYLWRVWL��V�YêMLPNRX��NG\�VH�QD�EXGRXFt�VWDY�FtORYpKR�W OHVD��.7��
YiåH�DOHVSR �MHGHQ�26��NWHUê�MH�Yi]iQ�QD�S tWRPQê�VWDY�]GURMRYpKR�W OHVD��.7���
���&5
5Xãt�OL�VH�YD]ED�QHPRYLWRVWL�QD�OLVWLQX�D�QHH[LVWXMH�OL�MLQi�QHPRYLWRVW�QD�WRPWpå�.7�V
YD]ERX�QD�WXWpå�OLVWLQX��]UXãt�VH�L�YD]ED�WpWR�OLVWLQ\�QD�26�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>UBOLVW@�
67$9B'$7�����������������������$12��180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
/,67,1B,'����������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>OLVWLQ\@�
3$5B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>SDUFHO\@�
%8'B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>EXGRY\@�
-('B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>MHGQRWN\@�
2368%B,'�����������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>RSUiYQ Qê
��������������������������������������������������������������������������������VXEMHNW@�
-39B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>MLQpKR�SUiYQtKR
��������������������������������������������������������������������������������Y]WDKX@�

3ULPiUQt�NOtþ������������������������6ORXSFH�
5/B3.��������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
5/B).��������������������������������/,67,1B,'��������������������������QD�WDE��/,67,1<
5/B).��������������������������������3$5B,'�����������������������������QD�WDE��3$5&(/<
5/B).��������������������������������%8'B,'�����������������������������QD�WDE��%8'29<
5/B).��������������������������������-('B,'�����������������������������QD�WDE��-('127.<
5/B).��������������������������������2368%B,'���������������������������QD�WDE��235$9B68%-(.7<
5/B).��������������������������������-39B,'�����������������������������QD�WDE��-,1(B35$9B9=7$+<

359.<�.$7$675È/1Ë�0$3<

3.03

-PpQR��6285$'1,&(B2%5$=8
��.yG��62%5
(QWLW\�LPSO��WDEXONRX�
%2'�32/2+23,68
628 $'1,&(�32'52%1e+2�%2'8
3RSLV�
7DEXOND�REVDKXMH�ERG\�SRORKRSLVX���þtVOD�ERG �D�VRX DGQLFH�REUD]X�Y�PDS �



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

�%5
���&5
0XVt�EêW�XUþHQ\�EX �GYRMLFH�VORXSF �.$78=(B.2'��&,6/2B=30=��QHER�VORXSHF�&,6/2B7/�
���&5
6ORXSHF�83/1(B&,6/2�MH�RGYR]HQ�]H�VORXSF �.$78=(B.2'��&,6/2B=30=��&,6/2B7/�D�&,6/2B%2'8�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
.$78=(B.2'���������������������1(���180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'����.yG�NDWDVWUiOQtKR�~]HPt�
&,6/2B=30=���������������������1(���180%(5�����������'�ýË6/2�=30=���������������-HGQR]QDþQ �XUþXMH�=30=�Y�UiPFL�NDW��~]HPt�
&,6/2B7/�����������������������1(���180%(5��������������������������������������ýtVOR�WULDQJXODþQtKR�OLVWX�
&,6/2B%2'8���������������������$12��180%(5�����������'�ýË6/2�%2'8�32/2+23,68����ýtVOR�ERGX�Y�UiPFL�=30=�D�NDWDVWUiOQtKR�~]HPt�
83/1(B&,6/2��������������������1(���180%(5�����������'�ýË6/2�%2'8�32/2+23,68����ÒSOQp�GYDQiFWLPtVWQp�þtVOR�ERGX�SRORKRSLVX�
6285$'1,&(B<�������������������$12��180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�<�ERGX�
6285$'1,&(B;�������������������$12��180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�;�ERGX�
.2'&+%B.2'���������������������$12��180%(5�����������'�&+$5$.7(5,67,.$�.9$/,7<��.yG�FKDUDNWHULVWLN\�NYDOLW\�ERGX�

3ULPiUQt�NOtþ������������������������6ORXSFH�
62%5B3.������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
62%5B8.������������������������������.$78=(B.2'
�������������������������������������&,6/2B=30=
�������������������������������������&,6/2B7/
�������������������������������������&,6/2B%2'8

&L]t�NOtþH���������������������������6ORXSFH�
62%5B).������������������������������.$78=(B.2'�������������������������QD�WDE��=30=
�������������������������������������&,6/2B=30=
62%5B).������������������������������.2'&+%B.2'�������������������������QD�WDE��.2'<B&+$5B4B%2'8

-PpQR��632-(1,B%B32/2+
��.yG��6%3
(QWLW\�LPSO��WDEXONRX�
632-(1Ë�%2' �32/2+23,68
3RSLV�
(QWLWD�SRSLVXMH�YD]EX�PH]L�SRGUREQêPL�ERG\��MHMLFKå�VSRMHQtP�Y]QLNi�OLQLRYê�SRORKRSLVQê
SUYHN�NDWDVWUiOQt�PDS\�

�%5
���&5
���85
9H�VSRMHQt�N�MHGQRPX�SUYNX�NDWDVWUiOQt�PDS\�VH�P åH�Y\VN\WQRXW�SRGUREQê�ERG�QHMYêãH�GYD�
NUiW�
���&5
���85
3RNXG�VH�Y\VN\WQH�SRGUREQê�ERG�YH�VSRMHQt�N�MHGQRPX�SUYNX�NDWDVWUiOQt�PDS\�GYDNUiW��MH
SUYQtP�D�SRVOHGQtP�ERGHP�YH�VSRMHQt�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR��WDEXOND
��������������������������������������������������������������������������������3$B5,=(1,��
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR��WDEXOND�5,=(1,��
%3B,'��������������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>ERG �SRORKRSLVX@�
325$'29(B&,6/2B%2'8������������$12��180%(5��������������������������������������3R DGRYp�þtVOR�ERGX�
2%B,'��������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>REUD] �ERG @�
+3B,'��������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>KUDQLFH�SDUFHO\@�
'30B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>GDOãt�SUYN\
��������������������������������������������������������������������������������PDS\@�
3$5$0(75<B632-(1,��������������1(���9$5&+$5����������'�3$5$0(75<�/,1,(����������3DUDPHWU\�OLQLRYêFK�SUYN �W\SX�NUXKRYê�REORXN�
��������������������������������������������������������������������������������NUXåQLFH��N LYND�

3ULPiUQt�NOtþ������������������������6ORXSFH�
6%3B3.�������������������������������,'



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

8QLNiWQt�NOtþH�����������������������6ORXSFH�
6%3B8.�������������������������������325$'29(B&,6/2B%2'8
�������������������������������������'30B,'
�������������������������������������+3B,'
�������������������������������������2%B,'

&L]t�NOtþH���������������������������6ORXSFH�
6%3B).�������������������������������'30B,'�����������������������������QD�WDE��'$/6,B359.<B0$3<
6%3B).�������������������������������+3B,'������������������������������QD�WDE��+5$1,&(B3$5&(/
6%3B).�������������������������������2%B,'������������������������������QD�WDE��2%5$=<B%8'29
6%3B).�������������������������������%3B,'������������������������������QD�WDE��%2'<B32/2+23,68

-PpQR��632-(1,B%B0$3<
��.yG��6%0
(QWLW\�LPSO��WDEXONRX�
632-(1Ë�%2' �0$3<
3RSLV�
(QWLWD� SRSLVXMH� YD]EX� PH]L� ERG\�� MHMLFKå� VSRMHQtP� Y]QLNi� OLQLRYê� QHSRORKRSLVQê� SUYHN
NDWDVWUiOQt�PDS\�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
325$'29(B&,6/2B%2'8������������$12��180%(5��������������������������������������3R DGRYp�þtVOR�ERGX�
6285$'1,&(B<�������������������$12��180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�<�ERGX�
6285$'1,&(B;�������������������$12��180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�;�ERGX�
23B,'��������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>REUD]\�SDUFHO@�
'30B,'�������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>GDOãt�SUYN\
��������������������������������������������������������������������������������PDS\@�
+%3(-B,'�����������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>KUDQLFH�%3(-@�
3$5$0(75<B632-(1,��������������1(���9$5&+$5����������'�3$5$0(75<�/,1,(����������3DUDPHWU\�OLQLRYêFK�SUYN �W\SX�NUXKRYê�REORXN�
��������������������������������������������������������������������������������NUXåQLFH��N LYND�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�

3ULPiUQt�NOtþ������������������������6ORXSFH�
6%0B3.�������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
6%0B8.�������������������������������325$'29(B&,6/2B%2'8
�������������������������������������'30B,'
�������������������������������������+3%3(-B,'

&L]t�NOtþH���������������������������6ORXSFH�
6%0B).�������������������������������'30B,'�����������������������������QD�WDE��'$/6,B359.<B0$3<
6%0B).�������������������������������+%3(-B,'���������������������������QD�WDE��+5$1,&(B%3(-
6%0B).�������������������������������23B,'������������������������������QD�WDE��2%5$=<B3$5&(/

-PpQR��.2'<B&+$5B4B%2'8
��.yG��.2'&+%
(QWLW\�LPSO��WDEXONRX�
.Ï'�&+$5$.7(5,67,.<�.9$/,7<�%2'8
3RSLV�
&HQWUiOQ �VSUDYRYDQê�þtVHOQtN�.Ï'�&+$5$.7(5,67,.<�.9$/,7<�%2'8�

&KDUDNWHULVWLND�NYDOLW\�ERGX�MH�Y\MiG HQtP�S HVQRVWL�XUþHQt�VRX DGQLF�GDQpKR�ERGX�

.Ï'�&+$5$.7(5,67,.<�.9$/,7<�%2'8

��������%RG�]tVNDQê�S tPêP�P HQtP�VH�VW HGQt�VRX DGQLFRYRX�FK\ERX������P�
��������%RG�]tVNDQê�S tPêP�P HQtP�VH�VW HGQt�VRX DGQLFRYRX�FK\ERX������P�
��������%RG�]tVNDQê�S tPêP�P HQtP�VH�VW HGQt�VRX DGQLFRYRX�FK\ERX������P�
��������'LJLWDOL]DFH�]�PDS\�P tWND��������
��������'LJLWDOL]DFH�]�PDS\�P tWND��������
��������'LJLWDOL]DFH�]�PDS\�P tWND��������D�MLQpKR�YêãH�QHXYHGHQpKR�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�&+$5$.7(5,67,.$�.9$/,7<��.yG�FKDUDNWHULVWLN\�NYDOLW\�ERGX�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�'/28+é�������������3RSLV�FKDUDNWHULVWLN\�NYDOLW\�ERGX�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

3ULPiUQt�NOtþ������������������������6ORXSFH�
.2'&+%B3.����������������������������.2'
8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��7B6285$'B6<6
��.yG��7<3626
(QWLW\�LPSO��WDEXONRX�
7<3�628 $'1,&29e+2�6<67e08
3RSLV�
ýtVHOQtN�VORXåt�N�XORåHQt�SRXåtYDQêFK�VRX DGQLFRYêFK�V\VWpP ��-HGQi�VH�QDS tNODG�R�V\VWpP
6�-76.��*XVWHUEHUJ��6Y��âW SiQ�S tSDGQ �PtVWQt�V\VWpP��REHFQê��

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�7<3�628 $'1,&29e+2�6<67e08�����.yG�W\SX�VRX DGQLFRYpKR�V\VWpPX�
1$=(9��������������������������$12��9$5&+$5����������'�1È=(9�.5È7.é�������������������1i]HY�W\SX�VRX DGQLFRYpKR�V\VWpPX�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������������'DWXP�]DKiMHQt�SODWQRVWL�
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������������'DWXP�XNRQþHQt�SODWQRVWL�

3ULPiUQt�NOtþ������������������������6ORXSFH�
7<3626B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��+5$1,&(B3$5&(/
��.yG��+3
(QWLW\�LPSO��WDEXONRX�
+5$1,&(�3$5&(/<
359(.�.$7$675È/1Ë�0$3<
3RSLV�
+UDQLFH�SDUFHO\�MH�OLQLRYê�SRORKRSLVQê��SUYHN��NWHUê�MH�WYR HQ�VSRMHQtP�ERG �SRORKRSLVX�
.DåGê�OLQLRYê�SUYHN�Y\PH]XMH�KUDQLFL�PH]L�GY PD�SDUFHODPL��SRNXG�QHWYR t�KUDQLFL�VWiWX��
/LQLRYp�SUYN\�Y\PH]XMtFt�KUDQLFH�SDUFHO�WYR t�DUHiORYê�JUDI�

�%5
���&5
���85
+UDQLFH�SDUFHO�WYR t�DUHiORYê�JUDI��9ãHFKQ\�KUDQLFH�SDUFHO\�Y�MHGQRP�NDWDVWUiOQtP�~]HPt
PXVt�EêW�]NRQVWUXRYiQ\�YH�VWHMQpP�GUXKX�PDS\��'.0��.0'��
���&5
���85
3RNXG�WYR t�KUDQLFH�SDUFHO\�KUDQLFL�PH]L�GY PD�SDUFHODPL��MVRX�QDSOQ Q\�VORXSFH�3$5B,'BL�
�L �����KRGQRWDPL�NOtþ �SDUFHO��MHMLFKå�KUDQLFL�KUDQLFH�SDUFHO\�WYR t�
���&5
���85
3RNXG�WYR t�KUDQLFH�SDUFHO\�KUDQLFL�~]HPt��NWHUp�QHQt�GLJLWiOQ ��]SUDFRYiQR��QHER�NWHUp
MH� ]SUDFRYiQR� Y� MLQpP� NDUWRJUDILFNpP� QHER� VRX DGQLFRYpP� V\VWpPX�� MH� QDSOQ Q� VORXSHF
3$5B,'B�� LGHQWLILNDFt� SDUFHO\�� MHMtå� KUDQLFL� KUDQLFH� WYR t�� VORXSHF� 3$5B,'B�� ] VWDQH
QHY\SOQ Q�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>KUDQLFH�SDUFHO@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
7<333'B.2'���������������������$12��180%(5�����������'�7<3�359.8�352672529é&+�'$7�.Ï'
3$5B,'B������������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>SDUFHO\@�
3$5B,'B������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>SDUFHO\@�



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

3ULPiUQt�NOtþ������������������������6ORXSFH�
+3B3.��������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
+3B).��������������������������������3$5B,'B����������������������������QD�WDE��3$5&(/<

-PpQR��2%5$=<B3$5&(/
��.yG��23
(QWLW\�LPSO��WDEXONRX�
2%5$=�3$5&(/<
3$5&(/1Ë�ýË6/2
359(.�.$7$675È/1Ë�0$3<
=1$ý.$�'58+8�32=(0.8
323,61e�3$5&(/1Ë�ýË6/2
â,3.$�.�323,61e08�ýË6/8
3RSLV�
3UYHN�SURVWRURYêFK�GDW��NWHUê�REVDKXMH�HQWLW\�UHSUH]HQWXMtFt�SDUFHOX�Y�NDWDVWUiOQt�PDS �
3DUFHOD�MH�SR]HPHN��NWHUê�MH�JHRPHWULFN\�D�SRORKRY �XUþHQ��]REUD]HQ�Y�NDWDVWUiOQt�PDS �D
R]QDþHQ�SDUFHOQtP�þtVOHP�

3DUFHOQt�þtVOR�MH�WH[WRYê�SRSLVQê�SUYHN��NWHUê�]REUD]XMH�DWULEXW\�WêNDMtFt�VH�SDUFHOQtKR
þtVOD�HQWLW\�3$5&(/$��7H[WRYê�SUYHN�MH�XPtVW Q�XYQLW �SDUFHO\�D�UHSUH]HQWXMH�MHMt�GHIL�
QLþQt�ERG��3DUFHOQt�þtVOR�MH�Yi]iQR�QD�NDWDVWUiOQt�~]HPt�

=QDþND�GUXKX�SR]HPNX�MH�ERGRYê�SRSLVQê�SUYHN��NWHUê�UHSUH]HQWXMH�DWULEXW�GUXK�SR]HPNX�D
]S VRE�Y\XåLWt�QHPRYLWRVWt�HQWLW\��3$5&(/$��0DSRYi�]QDþND�VH�XPtV XMH�XSURVW HG�SORFK\
SDUFHO\� SRNXG� PRåQR� QDG� SDUFHOQtP� þtVOHP�� X� UR]ViKOêFK� QHER� þOHQLWêFK� SDUFHO� P åH� EêW
]QDþND�XPtVW QD�YtFHNUiW��X�SDUFHO�PDOp�SORFK\�P åH�EêW�Y\QHFKiQD�

3RSLVQp�SDUFHOQt�þtVOR�MH�WH[WRYê�SRSLVQê�SUYHN��NWHUê�VH�XPtVWt�SREOtå�SDUFHO\�WHKG\�
NG\å�VH�GR�SDUFHO\�QHYHMGH�SDUFHOQt�þtVOR�

9\QiãHFt�þiUD�D�ãLSND�N�SRSLVQpPX�SDUFHOQtPX�þtVOX�Y\VY WOXMt�XPtVW Qt�SRSLVQpKR�SDUFHO�
QtKR�þtVOD�

�%5
���'5
3RNXG�MH�KLVWRUL]RYiQ�NWHUêNROLY�]�SUYN �SRSLVQp�þtVOR�SDUFHO\��Y\QiãHFt�OLQLH�D�ãLSND�
PXVt�EêW�KLVWRUL]RYiQ\�L�]EêYDMtFt�SUYN\�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>REUD] �SDUFHO@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
7<333'B.2'���������������������$12��180%(5�����������'�7<3�359.8�352672529é&+�'$7�.Ï'
6285$'1,&(B<�������������������1(���180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�<�ERGX�
6285$'1,&(B;�������������������1(���180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�;�ERGX�
7(;7���������������������������1(���9$5&+$5������
9(/,.267�����������������������1(���180%(5��������
8+(/���������������������������1(���180%(5��������
3$5B,'�������������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>SDUFHO\@�
23$5B7<3(����������������������$12��9$5&+$5����������'�23$5�7<3(����������������7\S�REUD] �SDUFHO�

3ULPiUQt�NOtþ������������������������6ORXSFH�
23B3.��������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
23B).��������������������������������3$5B,'�����������������������������QD�WDE��3$5&(/<



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

-PpQR��2%5$=<B%8'29
��.yG��2%
(QWLW\�LPSO��WDEXONRX�
2%5$=�%8'29<
2%92'�%8'29<
359(.�.$7$675È/1Ë�0$3<
=1$ý.$�'58+8�%8'29<
3RSLV�
2EUD]� EXGRY\� MH� SUYHN� SURVWRURYêFK� GDW�� NWHUê� REVDKXMH� HQWLW\� ]REUD]XMtFt� EXGRYX� QRY
]DSVDQRX�Y�.1�D�GDOãt�REMHNW\�W\SX�EXGRYD�]MLãW Qp�S L�REQRY �NDWDVWUiOQtKR�RSHUiWX�QRYêP
PDSRYiQtP�

%XGRY\�MVRX�Y�NDWDVWUX�JHRPHWULFN\�D�SRORKRY �XUþHQ\�REGREQ �MDNR�SDUFHO\�

9H� VWiYDMtFtFK� NDWDVWUiOQtFK� PDSiFK� QHO]H� MHGQR]QDþQ � XUþLW�� NWHUi� þiVW� YQLW Qt� NUHVE\
UHSUH]HQWXMH�EXGRYX��9�WRPWR�S tSDG �QHEXGRX�PtW�EXGRY\�]DSVDQp�Y�SRSLVQp�þiVWL�RGSRYtGD�
MtFt�REUD]�Y�HQWLW �SUYHN�NDWDVWUiOQt�PDS\�

2EYRG�EXGRY\�MH�OLQLRYê�SRORKRSLVQê��SUYHN�UHSUH]HQWXMtFt�YQ Mãt�REYRG�EXGRY\���]DVWDY Qp
SORFK\�

=QDþND�GUXKX�EXGRY\�MH�ERGRYê�SRSLVQê�SUYHN�UHSUH]HQWXMtFt�GUXK�EXGRY\�SRGOH�WDEXON\�����
6WDYHEQt�REMHNW\�Y�S tOR]H�Y\KOiãN\�þ����������6E��=QDþND�GUXKX�EXGRY\�UHSUH]HQWXMH�WDNp
GUXK�SR]HPNX���]DVWDY Qi�SORFKD�

�%5
���85
3 L�]P Q �SRORK\�]QDþN\�GUXKX�EXGRY\�QHER�SU E KX�REYRGX�EXGRY\�VH�]DFKRYi�KRGQRWD�VORXS�
FH�%8'B,'�
���&5
���85
=QDþND�GUXKX�EXGRY\�OHåt�XYQLW �NDåGp�]�X]DY HQêFK�ORPHQêFK�þDU�WYR tFtFK�REYRG�EXGRY\�
���&5
���85
2EUD]�EXGRY\�OHåt�XYQLW �VMHGQRFHQt�SDUFHO��QD�NWHUêFK�EXGRYD�OHåt�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>REUD] �EXGRY@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
7<333'B.2'���������������������$12��180%(5�����������'�7<3�359.8�352672529é&+�'$7�.Ï'
6285$'1,&(B<�������������������1(���180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�<�ERGX�
6285$'1,&(B;�������������������1(���180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�;�ERGX�
9(/,.267�����������������������1(���180%(5��������
8+(/���������������������������1(���180%(5��������
%8'B,'�������������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>EXGRY\@�
2%5%8'B7<3(��������������������$12��9$5&+$5����������'�2%5%8'�7<3(��������������7\S�REUD] �EXGRY�

3ULPiUQt�NOtþ������������������������6ORXSFH�
2%B3.��������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
2%B).��������������������������������%8'B,'�����������������������������QD�WDE��%8'29<

-PpQR��'$/6,B359.<B0$3<
��.yG��'30
(QWLW\�LPSO��WDEXONRX�
%2'29é�'$/âË�359(.�32/2+23,68
%2'29é�323,61é�359(.
'$/âË�359(.�32/2+23,68



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

+5$1,&(�&+5È1 1e+2�Ò=(0Ë
+5$1,&(�2&+5$11e+2�3È60$
/,1,29é�'$/âË�359(.�32/2+23,68
/,1,29é�323,61é�359(.
323,61é�359(.�0$3<
359(.�.$7$675È/1Ë�0$3<
7(;729é�323,61é�359(.
+5$1,ý1Ë�=1$.
3RSLV�
7DEXOND�REVDKXMH�SRORKRSLVQp�D�SRSLVQp�HQWLW\�NDWDVWUiOQt�PDS\��NWHUp�QH]REUD]XMt�SRSLVQp
~GDMH�NDWDVWUX�

�%5
���&5
/LQLRYp� GDOãt� SUYN\� SRORKRSLVX�� NWHUp� PDMt� KRGQRWX� VORXSFH� 35,6/B3$5&(/(� URYQX� $12�� D
KUDQLFH� SDUFHO\�� XYQLW � NWHUp� OLQLRYp� GDOãt� SUYN\� SRORKRSLVX� OHåt� �GiQR� FL]tP� NOtþHP
3$5B,'���WYR t�URYLQQê�JUDI�
���&5
$OHVSR �MHGHQ�VORXSHF�JHRPHWULH�PXVt�EêW�QDSOQ Q��SRGOH�W\SX�SUYNX���QHER�PXVt�EêW�QDSO�
Q QD�YD]ED�QD�6SRMHQt�ERG �SRORKRSLVX�
���&5
'DOãt�SUYN\�PDS\�MVRX�Yi]iQ\�QD�SDUFHOX��QLNROL�QD�GtO�SDUFHO\�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>GDOãtFK�SUYN �PDS\@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
7<333'B.2'���������������������$12��180%(5�����������'�7<3�359.8�352672529é&+�'$7�.Ï'
6285$'1,&(B<�������������������1(���180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�<�ERGX�
6285$'1,&(B;�������������������1(���180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�;�ERGX�
7(;7���������������������������1(���9$5&+$5������
9(/,.267�����������������������1(���180%(5��������
8+(/���������������������������1(���180%(5��������
%3B,'��������������������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>ERGX�SRORKRSLVX@�
'30B7<3(�����������������������$12��9$5&+$5����������'�'30�7<3(�����������������7\S�GDOãtFK�SUYN �PDS\�

3ULPiUQt�NOtþ������������������������6ORXSFH�
'30B3.�������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
'30B).�������������������������������%3B,'������������������������������QD�WDE��%2'<B32/2+23,68

-PpQR��2%5$=<B%2'8B%3
��.yG��2%%3
(QWLW\�LPSO��WDEXONRX�
ýË6/2�%2'8
359(.�.$7$675È/1Ë�0$3<
=1$ý.$�%2'8
2%5$=�%2'8�%2'29e+2�32/(
3RSLV�
%RG\�ERGRYêFK�SROt�MVRX�]REUD]HQ\�Y�NDWDVWUiOQt�PDS �GHNDGLFNêFK�P tWHN�D�Y�'.0��=REUD�
]HQt�ERG �ERGRYpKR�SROH�Y�.0�'�MH�SUREOpPHP�Y\PH]HQt�REVDKX�.0�'�

ýtVOR�ERGX�MH�WH[WRYê�SRSLVQê�SUYHN��NWHUê�]REUD]XMH�þtVOR�ERGX�ERGRYpKR�SROH�

=QDþND�ERGX�MH�ERGRYê�SRORKRSLVQê��SUYHN��NWHUê�]REUD]XMH�ERG�ERGRYpKR�SROH�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>REUD] �ERG �%3@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
7<333'B.2'���������������������$12��180%(5�����������'�7<3�359.8�352672529é&+�'$7�.Ï'
6285$'1,&(B<�������������������1(���180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�<�ERGX�
6285$'1,&(B;�������������������1(���180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�;�ERGX�
7(;7���������������������������1(���9$5&+$5������
9(/,.267�����������������������1(���180%(5��������
8+(/���������������������������1(���180%(5��������
%3B,'��������������������������1(���180%(5�����������'�,'
2%%3B7<3(����������������������$12��9$5&+$5����������'�2%%3�7<3(����������������7\S�REUD] �ERG �ERGRYêFK�SROt�

3ULPiUQt�NOtþ������������������������6ORXSFH�
2%%3B3.������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
2%%3B).������������������������������%3B,'������������������������������QD�WDE��%2'<B32/2+23,68

-PpQR��7B359.8B3B'$7
��.yG��7<333'
(QWLW\�LPSO��WDEXONRX�
7<3�359.8�352672529é&+�'$7
3RSLV�
&HQWUiOQ �VSUDYRYDQê�þtVHOQtN�REVDKXMH�SRSLV�SUYN �NDWDVWUiOQt�PDS\�D�GDOãtFK�SURVWRUR�
YêFK�GDW�S tWRPQêFK�Y�V\VWpPX��2EVDKXMH�GHILQLFL�V\PERORJLH�SUYN �NDWDVWUiOQt�PDS\�SUR
]REUD]HQt�Y�S tWRPQpP��EXGRXFtP�D�PLQXOpP�VWDYX��S tVOXãQRVW�SUYNX�N�SRORKRSLVQêP�D�SR�
SLVQêP�SUYN P�PDS\�D�GDOãt�~GDMH�SRW HEQp�SUR�IXQNFH��NWHUp�SUDFXMt�V�NDWDVWUiOQt�PDSRX�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
.2'����������������������������$12��180%(5�����������'�7<3�359.8�352672529é&+���.yG�W\SX�SUYNX�SURVWRURYêFK�GDW�
32/2+23,6����������������������$12��9$5&+$5����������'�$12�1(�������������������3 t]QDN�SRORKRSLVQpKR�SUYNX�PDS\�
(',729$7(/1<�������������������$12��9$5&+$5����������'�$12�1(�������������������(GLWRYDWHOQRVW�SUYNX�Y�UiPFL�HGLWDFH�SRSLVQêFK�SUYN
��������������������������������������������������������������������������������PDS\�
3/$71267B2'��������������������$12��'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�]DKiMHQt�SODWQRVWL�
9<=1$0�������������������������1(���9$5&+$5����������'�323,6�32=1È0.$�����������9ê]QDP�W\SX�SUYNX�SURVWRURYêFK�GDW�
.5,9.$�������������������������1(���9$5&+$5����������'�$12�1(�������������������3 tSXVWQRVW�SRXåLWt�N LYN\�
7<3B359.8����������������������1(���180%(5��������������������������������������7\S��YODVWQRVW��OLQLRYpKR�SUYNX��KUDQLFH�SDUFHO\�
��������������������������������������������������������������������������������YQLW Qt�NUHVE\��
3/$71267B'2��������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������'DWXP�XNRQþHQt�SODWQRVWL�

3ULPiUQt�NOtþ������������������������6ORXSFH�
7<333'B3.����������������������������.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

%3(-

%3(-

-PpQR��+5$1,&(B%3(-
��.yG��+%3(-
(QWLW\�LPSO��WDEXONRX�
+5$1,&(�%3(-
359(.�.$7$675È/1Ë�0$3<
3RSLV�
%RQLWRYDQi� S GQ � HNRORJLFNi� MHGQRWND� �%3(-�� MH� ]iNODGQt� PDSRYDFt� D� RFH RYDFt� MHGQRWND
]HP G OVNêFK� S G�� WM�� VSHFLILFNê� ~]HPQt� FHOHN� V� NRQNUpWQtPL� VWDQRYLãWQtPL� YODVWQRVWPL�
Y\MiG HQêPL�S WLPtVWQêP�þtVHOQêP�NyGHP��9\MDG XMH�UR]GtOQp�SURGXNþQt�D�HNRQRPLFNp�HIHNW\
]HP G OVNpKR�~]HPt�



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

+UDQLFH�%3(-�MH�OLQLRYê�SUYHN��NWHUê�WYR t�UR]KUDQt�PH]L�GY PL�U ]QêPL�%3(-��+UDQLFH�%3(-
QHQt�SRORKRSLVQêP�SUYNHP�NDWDVWUiOQt�PDS\�

�%5
���&5
+UDQLFH�%3(-�WYR t�DUHiORYê�JUDI�
���&5
3RNXG� WYR t� KUDQLFH� %3(-� KUDQLFL� PH]L� GY PD� %3(-�� MVRX� QDSOQ Q\� VORXSFH
%3(-B.2'B+5$1,&(BL���L �����KRGQRWDPL�NOtþ �%3(-��MHMLFKå�KUDQLFL�KUDQLFH�%3(-�WYR t�
���&5
3RNXG�WYR t�KUDQLFH�%3(-�KUDQLFL�~]HPt��NWHUp�QHQt�ERQLWRYiQR��QHER�KUDQLFL�~]HPt��NWHUp
QHQt� SRSViQR� GLJLWiOQtPL� KUDQLFHPL� %3(-�� MH� QDSOQ Q� VORXSHF� %3(-B.2'B+5$1,&(B�� NyGHP
%3(-��MHKRå�KUDQLFL�KUDQLFH�WYR t��VORXSHF�%3(-B.2'B+5$1,&(B��] VWDQH�QHY\SOQ Q�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>KUDQLFH�%3(-@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
7<333'B.2'���������������������$12��180%(5�����������'�7<3�359.8�352672529é&+�'$7�.Ï'
%3(-B.2'B+5$1,&(B��������������$12��9$5&+$5����������'�%3(-�.Ï'�����������������-HGQR]QDþQê�NyG�%3(-�
%3(-B.2'B+5$1,&(B��������������1(���9$5&+$5����������'�%3(-�.Ï'�����������������-HGQR]QDþQê�NyG�%3(-�
.$78=(B.2'���������������������1(���180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'

3ULPiUQt�NOtþ������������������������6ORXSFH�
+%3(-B3.�����������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�

-PpQR��2=1$&(1,B%3(-
��.yG��2%3(-
(QWLW\�LPSO��WDEXONRX�
2=1$ý(1Ë�%3(-
359(.�.$7$675È/1Ë�0$3<
3RSLV�
7H[WRYê�SRSLVQê�SUYHN��NWHUê�Y\MDG XMH�KRGQRWX�NyGX�%3(-�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>R]QDþHQt�%3(-@�
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7�����������������6WDY�DNWXiOQRVWL�GDW�
'$780B9=1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�SUYQtKR�YêVN\WX�HQWLW\�Y�V\VWpPX�
'$780B=$1,.8�������������������1(���'$7(�������������'�'1(â1Ë�'$780�������������ýDVRYê�~GDM�NRQFH�SODWQRVWL�YêVN\WX�HQWLW\�Y�V\VWpPX�
35,=1$.B.217(;78���������������1(���180%(5�����������'�3 Ë=1$.�.217(;78���������3 t]QDN�NRQWH[WX�
5,=(1,B,'B9=1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
5,=(1,B,'B=$1,.8���������������1(���180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
7<333'B.2'���������������������$12��180%(5�����������'�7<3�359.8�352672529é&+�'$7�.Ï'
6285$'1,&(B<�������������������1(���180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�<�ERGX�
6285$'1,&(B;�������������������1(���180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�;�ERGX�
7(;7���������������������������1(���9$5&+$5������
9(/,.267�����������������������1(���180%(5��������
8+(/���������������������������1(���180%(5��������
%3(-B.2'�����������������������$12��9$5&+$5����������'�%3(-�.Ï'�����������������-HGQR]QDþQê�NyG�%3(-�
.$78=(B.2'���������������������1(���180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'

3ULPiUQt�NOtþ������������������������6ORXSFH�
2%3(-B3.�����������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

*(20(75,&.é�3/È1

*03/

-PpQR��1$95+<B=0(1B.0
��.yG��1=
(QWLW\�LPSO��WDEXONRX�
*(20(75,&.é�3/È1
1È95+�=0 1<
3RSLV�
7DEXOND�SRSLVXMH�JHRPHWULFNê�SOiQ�D�GDOãt�KODYLþNX�GDOãtFK�]P Q�Y�.0��NWHUp�QHMVRX�SURYi�
G Q\�JHRPHWULFNêP�SOiQHP�

*HRPHWULFNê�SOiQ��*3��VH�]KRWRYXMH�SUR�
��]P QX�KUDQLFH�NDWDVWUiOQtKR�~]HPt�D�KUDQLFH�~]HPQ �VSUiYQt�MHGQRWN\��SRNXG�QHO]H�QRYê
��SU E K�KUDQLFH�]WRWRåQLW�V�KUDQLFt�SDUFHO\��
��UR]G OHQt�SR]HPNX�
��]P QX�KUDQLFH�SR]HPNX�
��Y\]QDþHQt�EXGRY\�QHER�]P QX�MHMtKR�YQ MãtKR�REYRGX�
��XUþHQt�KUDQLFH�SR]HPN �S L�SR]HPNRYêFK�~SUDYiFK�
��GRSOQ Qt�NDWDVWUX�R�SR]HPHN�YHGHQê�GRVXG�YH�]MHGQRGXãHQp�HYLGHQFL�
��JUDILFNp�Y\MiG HQt�UR]VDKX�SUiYD��NWHUp�RPH]XMH�YODVWQtND�SR]HPNX�YH�SURVS FK�MLQpKR�
7DEXOND�1iYUK\�]P Q�Y�.0��REVDKXMH�VORXSFH�SUR�XORåHQt�Y\EUDQêFK�~GDM �SRSLVRYpKR�SROH
*3�

7DEXOND�1iYUK�]P Q�Y�.0��REVDKXMH�YH�VYêFK�VORXSFtFK�WDNp�KODYLþNX�=30=��SRNXG�NH�]P QiP
Y� JHRGHWLFNêFK� GDWHFK� QHGRFKi]t� JHRPHWULFNêP� SOiQHP�� DOH� SRX]H� =30=�� 7DWR� YDULDQWD� MH
Y\MiG HQD�KRGQRWRX�VORXSFH�1=B7<3(�

�%5
���&5
3RNXG�WDEXOND�UHSUH]HQWXMH�KODYLþNX�=30=��MH�YD]ED�QD�WDEXONX�=30=�����

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'�����������������������8QLNiWQt�JHQHURYDQp�þtVOR�>QiYUK �]P Q�.0@�
67$9B1=������������������������$12��180%(5�����������'�67$9�*3������������������3RSLVXMH�VWDY�]SUDFRYiQt�]P Q\�
1=B7<3(������������������������$12��9$5&+$5����������'�1=�7<3(������������������7\S�QiYUK �]P Q�
325,=(1,B'$7B1=����������������$12��9$5&+$5����������'�$12�1(�������������������3RSLVXMH�VWDY�SR t]HQt�GDW�
5,=(1,B,'����������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�> t]HQt@�
&,6/2B3/$18��������������������1(���9$5&+$5����������'�1È=(9�'/28+é�������������ýtVOR�VORåHQp�]�þtVOD�=30=��]DNi]N\�]KRWRYLWHOH�D
��������������������������������������������������������������������������������GYRMþtVOt�URNX�
9<+2729,/����������������������1(���9$5&+$5����������'�1È=(9�'/28+é�������������,GHQWLILNDFH�Y\KRWRYLWHOH�]P Q\�
2=1$&(1,B0$329(+2B/,678��������1(���9$5&+$5����������'�1È=(9�'/28+é�������������2]QDþHQt�PDSRYpKR�OLVWX��QD�NWHUpP�OHåt�]P QD�

3ULPiUQt�NOtþ������������������������6ORXSFH�
1=B3.��������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
1=B8.��������������������������������5,=(1,B,'

&L]t�NOtþH���������������������������6ORXSFH�
1=B5,=(1,B).�������������������������5,=(1,B,'��������������������������QD�WDE��5,=(1,

-PpQR��=30=
��.yG��=30=
(QWLW\�LPSO��WDEXONRX�
=È=1$0�32'52%1e+2�0 (1Ë�=0 1



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

3RSLV�
=i]QDP�SRGUREQpKR�P HQt�]P Q��=30=��MH�GRNODG��GR�Q KRå�VH�]D]QDPHQiYDMt�YêVOHGN\�]DP �
RYiQt�]P Q�Y�WHUpQX��=i]QDP�SRGUREQpKR�P HQt�VH�]KRWRYXMH�L�N�Y\]QDþHQt�WDNRYêFK�]P Q�
NWHUp� QHMVRX� VSRMHQp� V� P HQtP� Y� WHUpQX� �VOXþRYiQt� SDUFHO�� GHPROLFH� EXGRY\�� GRSOQ Qt
SR]HPNX�GRVXG�YHGHQpKR�YH�]MHGQRGXãHQp�HYLGHQFL�EH]�]DP RYiQt�Y�WHUpQX���SDN�QHREVDKXMH
]iSLVQtN��QHER�]P Q��NWHUp�MVRX�VSRMHQp�V�P HQtP�Y�WHUpQX��DOH�QHP Qt�KUDQLFH�SR]HPNX
QHER�REYRG�EXGRY\��QDS ��XUþHQt�KUDQLFH�FKUiQ QpKR�~]HPt�QHER�RFKUDQQpKR�SiVPD�D�GDOãtFK
SUYN �SRORKRSLVX�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD�������������������������3RSLV�
.$78=(B.2'���������������������$12��180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'��������.yG�NDWDVWUiOQtKR�~]HPt�
&,6/2B=30=���������������������$12��180%(5�����������'�ýË6/2�=30=�������������������-HGQR]QDþQ �XUþXMH�=30=�Y�UiPFL�NDW��~]HPt�
33=B,'�������������������������1(���180%(5�����������'�,'���������������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>SUYN
������������������������������������������������������������������������������������S HKOHG �=30=@�
67$9B=30=����������������������$12��180%(5�����������'�67$9�=30=��������������������6WDY�SR t]HQt�=30=�
0(5,&.<B1$&57������������������1(���9$5&+$5����������'�$12�1(
=$3,61,.B32'52%B0(5(1,���������1(���9$5&+$5����������'�$12�1(
9<32&(7B35272.2/B9<0(5���������1(���9$5&+$5����������'�$12�1(
7<3626B.2'���������������������1(���180%(5�����������'�7<3�628 $'1,&29e+2�6<67e08���.yG�VRX DGQLFRYpKR�V\VWpPX�

3ULPiUQt�NOtþ������������������������6ORXSFH�
=30=B3.������������������������������.$78=(B.2'
�������������������������������������&,6/2B=30=

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
=30=B.$78=(B).�����������������������.$78=(B.2'�������������������������QD�WDE��.$7$675B8=(0,
=30=B33=B).��������������������������33=B,'�����������������������������QD�WDE��359.<B35(+/B=30=
=30=B7<3626B).�����������������������7<3626B.2'�������������������������QD�WDE��7B6285$'B6<6

-PpQR��1=B=30=
��.yG��1==3
(QWLW\�LPSO��WDEXONRX�
3RSLV�
7DEXOND�SRSLVXMH�YD]EX�PH]L�1iYUKHP�]P Q�D�=30=�

�%5
���&5
3RNXG�WDEXOND�1$95+<B=0(1�UHSUH]HQWXMH�KODYLþNX�=30=��MH�YD]ED�QD�WDEXONX�=30=�����

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
1=B,'��������������������������$12��180%(5�����������'�,'�����������������������2GND]�QD�XQLNiWQt�JHQHURYDQp�þtVOR�>QiYUKX�]P Q
��������������������������������������������������������������������������������=30=@�
=30=B&,6/2B=30=����������������$12��180%(5�����������'�ýË6/2�=30=���������������-HGQR]QDþQ �XUþXMH�=30=�Y�UiPFL�NDW��~]HPt�
=30=B.$78=(B.2'����������������$12��180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'����.yG�NDWDVWUiOQtKR�~]HPt�

3ULPiUQt�NOtþ������������������������6ORXSFH�
1==3B3.������������������������������1=B,'
�������������������������������������=30=B&,6/2B=30=
�������������������������������������=30=B.$78=(B.2'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
&L]t�NOtþH���������������������������6ORXSFH�
1==3B1=B).���������������������������1=B,'������������������������������QD�WDE��1$95+<B=0(1B.0
1==3B=30=B).�������������������������=30=B&,6/2B=30=��������������������QD�WDE��=30=
�������������������������������������=30=B.$78=(B.2'

-PpQR��6285$'1,&(B32/2+<
��.yG��632/
(QWLW\�LPSO��WDEXONRX�
%2'�32/2+23,68
628 $'1,&(�32'52%1e+2�%2'8



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

3RSLV�
7DEXOND�REVDKXMH�ERG\�SRORKRSLVX���þtVOD�ERG �D�VRX DGQLFH�SRORK\���P HQp�VRX DGQLFH�
YþHWQ �RGND]X�QD�=30=��NWHUp�MH�XUþLOR��WRWR�=30=�VH�P åH�OLãLW�RG�=30=��Y�UiPFL�NWHUpKR
MH�ERG�þtVORYiQ��

�%5
���&5
0XVt�EêW�XUþHQ\�EX �GYRMLFH�VORXSF �.$78=(B.2'��&,6/2B=30=��QHER�VORXSHF�&,6/2B7/�
���&5
6ORXSHF�83/1(B&,6/2�MH�RGYR]HQ�]H�VORXSF �.$78=(B.2'��&,6/2B=30=��&,6/2B7/�D�&,6/2B%2'8�

6ORXSFH�����������������������3RY"��7\S�������9HO����'RPpQD���������������������3RSLV�
,'�����������������������������$12��180%(5�����������'�,'
67$9B'$7�����������������������1(���180%(5�����������'�67$9�'$7
.$78=(B.2'���������������������1(���180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'����.yG�NDWDVWUiOQtKR�~]HPt�
&,6/2B=30=���������������������1(���180%(5�����������'�ýË6/2�=30=���������������-HGQR]QDþQ �XUþXMH�=30=�Y�UiPFL�NDW��~]HPt�
&,6/2B7/�����������������������1(���180%(5��������������������������������������ýtVOR�WULDQJXODþQtKR�OLVWX�
&,6/2B%2'8���������������������$12��180%(5�����������'�ýË6/2�%2'8�32/2+23,68����ýtVOR�ERGX�Y�UiPFL�=30=�D�NDWDVWUiOQtKR�~]HPt�
83/1(B&,6/2��������������������$12��180%(5�����������'�ýË6/2�%2'8�32/2+23,68����ÒSOQp�GYDQiFWLPtVWQp�þtVOR�ERGX�SRORKRSLVX�
6285$'1,&(B<�������������������$12��180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�<�ERGX�
6285$'1,&(B;�������������������$12��180%(5�����������'�628 $'1,&(B%2'8����������6RX DGQLFH�;�ERGX�
.2'&+%B.2'���������������������$12��180%(5�����������'�&+$5$.7(5,67,.$�.9$/,7<��.yG�FKDUDNWHULVWLN\�NYDOLW\�ERGX�
.$78=(B.2'B0(5�����������������$12��180%(5�����������'�.$7$675È/1Ë�Ò=(0Ë�.Ï'����.yG�NDWDVWUiOQtKR�~]HPt�
&,6/2B=30=B0(5�����������������$12��180%(5�����������'�ýË6/2�=30=���������������=30=��NWHUp�XUþLOR�VRX DGQLFH��

3ULPiUQt�NOtþ������������������������6ORXSFH�
632/B3.������������������������������,'

8QLNiWQt�NOtþH�����������������������6ORXSFH�
632/B8.������������������������������.$78=(B.2'
�������������������������������������&,6/2B=30=
�������������������������������������&,6/2B7/
�������������������������������������&,6/2B%2'8
�������������������������������������.$78=(B.2'B0(5
�������������������������������������&,6/2B=30=B0(5

&L]t�NOtþH���������������������������6ORXSFH�
632/B).������������������������������.$78=(B.2'�������������������������QD�WDE��=30=
�������������������������������������&,6/2B=30=
632/B).������������������������������.2'&+%B.2'�������������������������QD�WDE��.2'<B&+$5B4B%2'8
632/B).������������������������������.$78=(B.2'B0(5���������������������QD�WDE��=30=
�������������������������������������&,6/2B=30=B0(5



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

���3RSLV�GRPpQ

'RPpQD���'�$'5(6$�7<3
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.YDOLILNiWRU�W\SX�DGUHV\�

'DWRYê�SUYHN�SUR�XS HVQ Qt�Y FQpKR�REVDKX�DGUHV\��3UYHN�QDEêYi�Y FQpKR�Yê]QDPX�YH�VSRMHQt
V�DGUHVRX�

3UR�SRW HE\�6,6�ý5�WDP��NGH�VH�XåtYi�Y�UiPFL�6,6�DGUHVD�D�NGH�MH�QXWQR�XUþLW�Y FQê�REVDK
DGUHV\�

.YDOLILNiWRU�DGUHV\�MH�XUþHQ�N�XS HVQ Qt�Y FQpKR�REVDKX�DGUHV\��WM��WRKR��FR�þL�NGR�VH
QDFKi]t�QD�PtVW �XUþHQpP�DGUHVRX��UHVS��N�þHPX�~GDM�R�DGUHVH�VORXåt�

6,6�ý5�Y�����

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������DGUHVD�RUJDQL]DFH
����������������������������DGUHVD�SURYR]Qt�MHGQRWN\
����������������������������DGUHVD��SUDFRYLãW
����������������������������DGUHVD�WUYDOpKR�E\GOLãW
����������������������������DGUHVD�S HFKRGQpKR�E\GOLãW
����������������������������VWDQRYLãW �X�YR]LGOD
����������������������������PtVWR�XGiORVWL
����������������������������GRUXþRYDFt�DGUHVD

'RPpQD���'�$12�1(
)RUPiW���9$5&+$5�
'pOND����
3RþHW�GHV�PtVW�
3RSLV�
/RJLFNi�KRGQRWD�$QR��1H�

0LQLPXP��������0D[LPXP�������9ê]QDP�
D���������������������������DQR
Q���������������������������QH

'RPpQD���'�%3(-�.Ï'
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
.yG�ERQLWRYDQp�S GQ �HNRORJLFNp�MHGQRWN\�

%RQLWRYDQi�S GQ �HNRORJLFNi�MHGQRWND�MH�]iNODGQt�PDSRYDFt�D�RFH RYDFt�MHGQRWND�]HP G O�
VNêFK�S G��NWHUi�MH�Y�REHFQpP�SRMHWt�FKiSiQD� MDNR� VSHFLILFNê� ~]HPQt� FHOHN�� NWHUê� Pi� Y
G VOHGNX���VYpUi]QpKR�S VREHQt�VORåHN�SURVW HGt��S HGHYãtP�S G\��NOLPDWX�D�UHOLpIX�NRQ�
NUpWQt�YODVWQRVWL�Y\MiG HQp�XUþLWRX�KRGQRWRX�SURGXNþQtKR�SRWHQFLiOX�

3UR�SRW HE\�6,6�
��GDWDEi]H�9ê]NXPQpKR�~VWDYX�PHOLRUDFt�D�RFKUDQ\�S G\��þtVHOQi�IRUPD��
��PDS\�%3(-��Y�JUDI��IRUP ���9ê]NXPQê�~VWDY�PHOLRUDFt�D�RFKUDQ\�S G\��

6,6�ý5�Y�����



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

'RPpQD���'�&(1$�1(029,7267,
)RUPiW���180%(5
'pOND�����
3RþHW�GHV�PtVW����
3RSLV�
)RUPiW�FHQ\�
&HQD�QHPRYLWRVWL�

'RPpQD���'�&+$5$.7(5,67,.$�.9$/,7<�%2'8�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�FKDUDNWHULVWLN\�NYDOLW\�ERGX�

'RPpQD���'�&+$5$.7(5,67,.$�235È91 1e+2�68%-(.78
)RUPiW���180%(5
'pOND�����
3RþHW�GHV�PtVW����
3RSLV�
5R]OLãHQt�RSUiYQ QpKR�VXEMHNWX�

.yG�FKDUDNWHULVWLN\�YODVWQtND��QiMHPFH���5R]OLãXMH�MHGQDN�I\]LFNp�RVRE\�V�URGQêP�þtVOHP
RG�RVWDWQtFK�VXEMHNW �V�þtVOHP�LGHQWLILNDþQtP�D�GiOH�X�I\]LFNêFK�RVRE�UR]OLãXMH�MHGQRW�
OLYFH�RG�PDQåHO �

'RPpQD���'�ýÈ67�2%&(�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�þiVWL�REFH��-HGQR]QDþQê�Y�ý5�

ýtVHOQtN�þiVWt�REFt�MH�VRXþiVWt�VRXVWDY\�LGHQWLILNiWRU �,QIRUPDþQtKR�V\VWpPX�R�~]HPt��.yG
MH�Y�UR]PH]t����������������âHVWi�þtVOLFH�MH�NRQWUROQt�

.RQWUROQt�]QDN�MH�Y\SRþWHQ�PHWRGRX�02'8/2������$''2��Y\XåtYi�VH�NH�YVWXSQt�NRQWUROH�NyGX�

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������VRXVWDYD�LGHQWLILNiWRU �LQIRUPDþQtKR�V\VWpPX�R�~]HPt

'RPpQD���'�ýÈ67�2%&(�1È=(9
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
1i]HY�þiVWL�REFH��-HGQR]QDþQê�Y�REFL�
ýiVWL�REFH�PDMt�VDPRVWDWQp�þtVORYiQt�GRP �

3UR�~þHO\�~]HPQt�LGHQWLILNDFH�VH�SRYDåXMt�REFH�QHþOHQ Qp�QD�þiVWL�]D�REFH�V�MHGLQRX�þiV�
Wt��7DNRYi�þiVW�Pi�Qi]HY�VKRGQê�V�Qi]YHP�REFH�

ýiVW�REFH�MH�HYLGHQþQt�MHGQRWND�Y\WYi HQi�REMHNW\�V�þtVO\�SRSLVQêPL��UHVS��HYLGHQþQtPL�D
QiKUDGQtPL�S LG OHQêPL�Y�MHGQp�þtVHOQp� DG �

ýiVW�REFH�MDNR�HYLGHQþQt�MHGQRWND�QHPi�YODVWQt�KUDQLFL�



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

'RPpQD���'�ýË6/2�'Ë/8�3$5&(/<
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
ýtVOR�GtOX�SDUFHO\�

'RPpQD���'�ýË6/2�-('127.<
)RUPiW���180%(5
'pOND�����
3RþHW�GHV�PtVW����
3RSLV�
ýtVOR�MHGQRWN\�

'RPpQD���'�ýË6/2�235È91 1Ë
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
ýtVOR�RSUiYQ Qt�RSUiYQ QpKR�JHRGHWD�

'RPpQD���'�ýË6/2�323,61e�1(%2�(9,'(1ý1Ë
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
ýtVOR�SRSLVQp�QHER�HYLGHQþQt�
ýtVOR�SRSLVQp��UHVS��HYLGHQþQt�

'RPpQD���'�ýË6/2�9/$671,&79Ë
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�

'RPpQD���'�ýË6/2�=30=
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
ýtVOR�=03=�

'RPpQD���'�',ý
)RUPiW���180%(5
'pOND�����
3RþHW�GHV�PtVW����
3RSLV�
'D RYp�LGHQWLILNDþQt�þtVOR�

'D RYp�LGHQWLILNDþQt�þtVOR��',ý��MH�VORåHQê�GDWRYê�SUYHN��NWHUê�VORXåt�N�LGHQWLILNDFL�D
UHJLVWUDFL�SOiWFH�GDQ �]�S LGDQp�KRGQRW\�D�Q NWHUêFK�GDOãtFK�GDQt�

',ý�VH�VNOiGi�]�GtOþtFK�GDWRYêFK�SUYN �
���]�W tPtVWQpKR�NyGX�S tVOXãQpKR�ILQDQþQtKR�~ DGX�
���NyGX�SOiWFH�GDQ �



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

����������������
����������������
�_�������_�NyG�SOiWFH�GDQ
�_�NyG�S tVOXãQpKR�ILQDQþQtKR�~ DGX

6,6�ý5�Y�����

'RPpQD���'�'1(â1Ë�'$780
)RUPiW���'$7(
'pOND�
3RþHW�GHV�PtVW�
3RSLV�
'QHãQt�GDWXP�Y�UR]VDKX�SODWQpKR�GDWXPX�

'RSOQ Qt�GRPpQ\�'�3/$71e�'$780�R�GHIDXOW�KRGQRWX�6<6'$7(�

'RPpQD���'�'30�7<3(
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
'DOãt�SUYN\�PDS\���W\S�

5R]OLãXMH�W\S\�GDOãtFK�SUYN �PDS\�Y�PDS �

0LQLPXP��������0D[LPXP�������9ê]QDP�
%'33������������������������ERGRYê�GDOãt�SUYHN�SRORKRSLVX
%33�������������������������ERGRYê�SRSLVQê�SUYHN
+&+8������������������������KUDQLFH�FKUiQ QpKR�~]HPt
+2&+3�����������������������KUDQLFH�RFKUDQQpKR�SiVPD
/'33������������������������OLQLRYê�GDOãt�SUYHN�SRORKRSLVX
/33�������������������������OLQLRYê�SRSLVQê�SUYHN
0(=�������������������������KUDQLþQt�]QDN
733�������������������������WH[WRYê�SRSLVQê�SUYHN

'RPpQD���'�'58+�ýË6/29È1Ë�3$5&(/
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
5R]OLãHQt�VWDYHEQt�D�SR]HPNRYp�SDUFHO\�

5R]OLãXMH�VWDYHEQt�D�SR]HPNRYp�SDUFHO\��SRNXG�MVRX�Y�N�~��YHGHQ\�GY �þtVHOQp� DG\�SDUFHO�
3RNXG�MH�Y�N�~��YHGHQD�MHGQD�þtVHOQi� DGD��MH�VNXSLQRYp�þtVOR�URYQR����6NXSLQRYi�þtVOD���
�� ]H� VRXþDVQpKR� VWDYX� MVRX� SRSViQ\� Y� GRPpQ � ='52-� 3$5&(/<� =(�� 6NXSLQRYi� þtVOD� ���� ]H
VRXþDVQpKR�VWDYX�MVRX�SRSViQD�YD]ERX�SDUFHOD���NDWDVWUiOQt�~]HPt�

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������VWDYHEQt�SDUFHOD
����������������������������SR]HPNRYi�SDUFHOD

'RPpQD���'�'58+�)21'8�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

3RSLV�
.yG�GUXKX�IRQGX�

'RPpQD���'�'58+�32=(0.8�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�GUXKX�SR]HPNX�

'RPpQD���'�'58+�Òý$671Ë.$
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
'UXK�~þDVWQtND��I\]LFNi��SUiYQLFNi�RVRED��

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������SUiYQLFNi�RVRED
����������������������������I\]LFNi�RVRED
����������������������������RVWDWQt
����������������������������SUiYQLFNi�RVRED�VWiWQt�VSUiY\

'RPpQD���'�)$;�7(/()21
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
)D[���WHOHIRQ�
ýtVOR�ID[RYpKR�QHER�WHOHIRQQtKR�VSRMHQt��-HGQRGXFKê�GDWRYê�SUYHN�Pi�þiVWL�
���NyG�S LSRMHQpKR�]D t]HQt��WHOHIRQ�7(��ID[�);���QHXYiGt�VH�X�NRPELQRYDQpKR�]D t]HQt�
���UR]OLãRYDFt�þtVOR�
���VP URYp�þtVOR�]HP �
���QiURGQt�VP URYp�þtVOR��VP URYp�þtVOR�872��
���~þDVWQLFNp�þtVOR��X�~VW HGHQ�V�SURYROERX�VH�UR]XPt�þtVOR�~VW HGQ\�D�þtVOR�OLQN\
���~þDVWQtND�GRKURPDG\��
���þtVOR�OLQN\��X�~VW HGHQ�VH�VSRMRYDWHONRX��
6ORåHQê�GDWRYê�SUYHN�QHPXVt�PtW�XYHGHQR�þtVOR�OLQN\�

-H�OL�UR]OLãRYDFt�þtVOR�����MGH�R�PH]LQiURGQt�VSRMHQt��-H�OL�UR]OLãRYDFt�þtVOR����MGH�R
PH]LP VWVNp�VSRMHQt�D�VORåHQê�GDWRYê�SUYHN�QHPi�VP URYp�þtVOR�]HP �

1HQt�OL� XYHGHQR� UR]OLãRYDFt� þtVOR� ��� QHER� ��� MGH� R� ~þDVWQLFNp� þtVOR� D� VORåHQê� GDWRYê
SUYHN�REVDKXMH�MHQ�~þDVWQLFNp�þtVOR��D�S tSDGQ �þtVOR�OLQN\��
�]QDN�<�R]QDþXMH�QHSRYLQQp�þiVWL�
<<�<<�<<<<�<<<<<<����������������<<<<<
_��_��_����_������_��������������_þ�O�
_��_��_����_������_��~þDVWQLFNp�þ�
_��_��_����_�QiURGQt�VP U��þ��VP URYp�þtVOR�872�
_��_��_VP URYp�þtVOR�]HP
_��_�UR]OLãRYDFt�þtVOR
_�NyG�S LSRMHQpKR�]D t]HQt
NyG�S LSRMHQpKR�]D t]HQt�7(�QHER�);
UR]OLãRYDFt�þtVOR�SUi]GQp����QHER���
VP URYp�þtVOR�]HP �SUi]GQp�QHER�YL]�þtVHOQtN
QiURGQt�VP URYp�þtVOR�SUi]GQp�Då�������
~þDVWQLFNp�þtVOR�����Då������������������
þtVOR�OLQN\�SUi]GQp�Då������
7HOHIRQQt�D�ID[RYi�þtVOD�Y�ý5�D�VP URYi�þtVOD�]HPt��637�7HOHFRP

6,6�ý5�Y�����



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

'RPpQD���'�)81.&(�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�IXQNFH�

'RPpQD���'�+2'127$�.2/.8
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
+RGQRWD�NRONX�

'RPpQD���'�,ý2
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
,GHQWLILNDþQt�þtVOR�RUJDQL]DFH�

,GHQWLILNDþQt�þtVOR��,ý2��MH�þtVHOQê�SR DGRYê�NyG��NWHUê�VORXåt�N�MHGQR]QDþQp�LGHQWLILND�
FL�HNRQRPLFNêFK�VXEMHNW ��(NRQRPLFNêP�VXEMHNWHP�MH�NDåGi�SUiYQLFNi�RVRED��D�GiOH�I\]LFNp
RVRE\��NWHUp�PDMt�SRGOH�]YOiãWQtKR�S HGSLVX�SRVWDYHQt�SRGQLNDWHOH�

��������������
��������������
�����_�������_�NRQWUROQt�þtVOLFH
�����_�SR DGRYp�þtVOR

6,6�ý5�Y�����

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������

'RPpQD���'�,ý2�'23/1 .
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
'RSOQ Qt�,ý2�SUR�RUJDQL]DþQt�MHGQRWN\�

'RPpQD���'�,'
)RUPiW���180%(5
'pOND�����
3RþHW�GHV�PtVW����
3RSLV�
)RUPiW�KRGQRW�XP OêFK�LGHQWLILNiWRU �

'RPpQD���'�,17(*(5�
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
&HOp�þtVOR��PD[LPiOQt���PtVWQp��



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

'RPpQD���'�,17(*(5�
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
&HOp�þtVOR��PD[LPiOQt���PtVWQp��

'RPpQD���'�-0e12
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
-PpQR�RE\YDWHOH�

=iNODGQt�LGHQWLILNDFH�RE\YDWHOH�

2EþDQ�Pi�SUiYR�D�SRYLQQRVW�XåtYDW�MPpQR��NWHUêP�MH�]DSViQ�Y�PDWULFH��S tSDGQ �Y�GRNODGX�R
]P Q �MPpQD�

-HVWOLåH�Pi�REþDQ�YtFH�MPHQ��SDN�SUR�SRW HE\�6,6�VH�XåtYi�MPpQR�XYHGHQp�MDNR�SUYQt�

6,6�ý5�Y�����

'RPpQD���'�.$7$675È/1Ë�Ò=(0Ë�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�NDWDVWUiOQtKR�~]HPt��-HGQR]QDþQê�Y�ý5�

ýtVHOQtN� MH� VRXþiVWt� VRXVWDY\� LGHQWLILNiWRU � ,QIRUPDþQtKR� V\VWpPX� R� ~]HPt� D� -HGQRWQpKR
þtVHOQtNX�SURVWRURYêFK�MHGQRWHN�

.yG�MH�Y�UR]PH]t����������������âHVWi�þtVOLFH�MH�NRQWUROQt�

.RQWUROQt�]QDN�MH�Y\SRþWHQ�PHWRGRX�02'8/2������$''2��Y\XåtYi�VH�NH�YVWXSQt�NRQWUROH�NyGX�

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������MHGQRWQê�þtVHOQtN�SURVWRURYêFK�MHGQRWHN

'RPpQD���'�.$7$675È/1Ë�Ò=(0Ë�1È=(9
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
1i]HY�NDWDVWUiOQtKR�~]HPt��-HGQR]QDþQê�Y�ý5�

.DWDVWUiOQtP�~]HPtP�VH�UR]XPt�WHFKQLFNi�MHGQRWND��NWHURX�WYR t�PtVWRSLVQ �X]DY HQê�D�Y
NDWDVWUX�QHPRYLWRVWt�VSROHþQ �HYLGRYDQê�VRXERU�QHPRYLWRVWt�

.Ò�WYR t�~]HPQt�FHOHN��NWHUê�MH�Y\PH]HQ�KUDQLFt�Y�UiPFL�NDWDVWUX�QHPRYLWRVWt��.Ò�MH�HYL�
GHQþQt�MHGQRWNRX�SUR�þtVORYiQt�SDUFHO�

'RPpQD���'�.0(129e�ýË6/2�3$5&(/<
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����



6WUDQD��� =35$92'$-�ýÒ=. ýiVWND����

3RSLV�
.PHQRYp�þtVOR�SDUFHO\�

.PHQRYp�SDUFHOQt�þtVOR�

0LQLPXP��������0D[LPXP�������9ê]QDP�
�������������������

'RPpQD���'�.5$-�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�NUDMH�

'RPpQD���'�.9$/,7$�85ý(1Ë�9é0 5<
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.YDOLWD�XUþHQt�YêP U\�

.YDOLWD�XUþHQt�YêP U\�Y\MDG XMH�]S VRE�XUþHQt�YêP U\�SDUFHO\�

'RPpQD���'�1$%é9$&Ë�7,78/�.Ï'
)RUPiW���9$5&+$5�
'pOND����
3RþHW�GHV�PtVW�
3RSLV�
.yG�QDEêYDFtKR�WLWXOX�

'RPpQD���'�1È=(9�'/28+é
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
)RUPiW�GORXKpKR�Qi]YX�

'RPpQD���'�1È=(9�.5È7.é
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
)RUPiW�NUiWNpKR�Qi]YX�

'RPpQD���'�1=�7<3(
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
1iYUK\�]P Q���W\S�

5R]OLãXMH�W\S\�QiYUK �]P Q�

0LQLPXP��������0D[LPXP�������9ê]QDP�
*3��������������������������JHRPHWULFNê�SOiQ
=30=������������������������=30=



ýiVWND���� =35$92'$-�ýÒ=. 6WUDQD���

'RPpQD���'�2%%3�7<3(
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
2EUD]\�ERG �ERGRYêFK�SROt���W\S�

5R]OLãXMH�W\S\�REUD] �ERG �ERGRYêFK�SROt��Y�PDS �

0LQLPXP��������0D[LPXP�������9ê]QDP�
&%��������������������������þtVOR�ERGX
=%��������������������������]QDþND�ERGX

'RPpQD���'�2%&+2'1Ë�-0e12
)RUPiW���9$5&+$5�
'pOND������
3RþHW�GHV�PtVW�
3RSLV�
2EFKRGQt�MPpQR�ILUP\�

2EFKRGQtP�MPpQHP�VH�UR]XPt�Qi]HY��SRG�NWHUêP�SRGQLNDWHO�þLQt�SUiYQt�~NRQ\�S L�VYp�SRGQL�
NDWHOVNp�þLQQRVWL�

2EFKRGQt�MPpQR�I\]LFNp�RVRE\�MH�MHMt�MPpQR�D�S tMPHQt��SRS ��GRGDWHN��RGOLãXMtFt�RVREX
SRGQLNDWHOH�QHER�GUXK�SRGQLNiQt�

2EFKRGQt� MPpQR� REFKRGQtFK� VSROHþQRVWt� D� GUXåVWHY� MH� Qi]HY�� SRG� NWHUêP� MVRX� ]DSViQ\� Y
REFKRGQtP�UHMVW tNX�UHVS��åLYQRVWHQVNpP�UHMVW tNX�

6RXþiVWt��REFKRGQtKR�MPpQD�SUiYQLFNp�RVRE\�MH�L��GRGDWHN�R]QDþXMtFt�MHMLFK�SUiYQt�IRUPX�

2EFKRGQtP�MPpQHP�SUiYQLFNp�RVRE\��NWHUi�VH�QH]DSLVXMH�GR�REFKRGQtKR�UHMVW tNX��MH�Qi]HY�
SRG�NWHUêP�E\OD�] t]HQD�

6,6�ý5�Y�����

'RPpQD���'�2%(&�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�REFH��-HGQR]QDþQê�Y�ý5�

3DUDOHOQt�þtVHOQtN\�
D�� VRXþiVW�-HGQRWQpKR�þtVHOQtNX�SURVWRURYêFK�MHGQRWHN��NWHUê�YHGH�ý6Ò��.yG�MH�Y�UR]PH]t

��������������D�YH�VSRMHQt�V�NRQWUROQtP�]QDNHP�VH�R]QDþXMH�MDNR�LGHQWLILNDþQt�þtVOR
]iNODGQt�~]HPQt�MHGQRWN\��,ý=Ò-��

E�� VRXþiVW�VRXVWDY\�LGHQWLILNiWRU �,QIRUPDþQtKR�V\VWpPX�R�~]HPt��-H�RGYR]HQ�]�þtVHOQtNX
]iNODGQtFK�VtGHOQtFK�MHGQRWHN��MHKRå�MH�SRGPQRåLQRX�

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������þtVHOQtN�SURVWRURYêFK�MHGQRWHN

'RPpQD���'�2%(&�1È=(9
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
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3RSLV�
1i]HY�REFH��-HGQR]QDþQê�Y�RNUHVH�

2EHF�WYR t�~]HPQt�FHOHN��NWHUê�MH�Y\PH]HQ�REHFQt�KUDQLFt��3UR�~þHO\�~]HPQt�LGHQWLILNDFH
VH� ]D� REFH� SRYDåXMt� P VWD� YþHWQ � VWDWXWiUQtFK� D� KODYQtKR� P VWD� 3UDK\�� D� WDNp� YRMHQVNp
~MH]G\�

'RPpQD���'�2%5%8'�7<3(
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
2EUD]\�EXGRY���W\S�

5R]OLãXMH�W\S\�REUD] �EXGRY�Y�PDS �

0LQLPXP��������0D[LPXP�������9ê]QDP�
2%��������������������������REYRG�EXGRY\
='%�������������������������]QDþND�GUXKX�EXGRY\

'RPpQD���'�2.5(6�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�RNUHVX��-HGQR]QDþQê�Y�ý5�

3UYQt� GYD� ]QDN\� XUþXMt� NUDM�� GDOãt� GYD� ]QDN\� MVRX� SR DGtP� RNUHVX� Y� UiPFL� S tVOXãQpKR
NUDMH�

0LQLPXP��������0D[LPXP�������9ê]QDP�
������������������

'RPpQD���'�2.5(6�1È=(9
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
1i]HY�RNUHVX��-HGQR]QDþQê�Y�ý5�

2NUHV� MH� ~]HPQ � VSUiYQt� MHGQRWND� VW HGQtKR� VWXSQ �� 2NUHV� WYR t� ~]HPQt� FHOHN�� NWHUê� MH
Y\PH]HQ�RNUHVQt�KUDQLFt�

'RPpQD���'�23$5�7<3(
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
2EUD]\�SDUFHO���W\S�

5R]OLãXMH�W\S\�REUD] �SDUFHO�Y�PDS �

0LQLPXP��������0D[LPXP�������9ê]QDP�
3&��������������������������SDUFHOQt�þtVOR
33&�������������������������SRSLVQp�SDUFHOQt�þtVOR
63&�������������������������ãLSND�N�SRSLVQpPX�þtVOX
='3�������������������������]QDþND�GUXKX�SR]HPNX
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'RPpQD���'�2368%�7<3(
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
2SUiYQ Qp�VXEMHNW\���W\S

5R]OLãXMH�W\S\�RSUiYQ QêFK�VXEMHNW �

0LQLPXP��������0D[LPXP�������9ê]QDP�
%60�������������������������SDUWQH L�Y�6-0
2)2�������������������������RSUiYQ Qi�I\]LFNi�RVRED
232�������������������������RSUiYQ Qi�SUiYQLFNi�RVRED

'RPpQD���'�25,(17$ý1Ë�ýË6/2
)RUPiW���9$5&+$5�
'pOND����
3RþHW�GHV�PtVW�
3RSLV�
2ULHQWDþQt�þtVOR�REMHNWX�

2ULHQWDþQt�þtVOR�MH�Yi]iQR�QD�XOLFL�QHER�YH HMQp�SURVWUDQVWYt�

0i�IRUPiW�QXPHULF�����FKDUDFWHU����NGH� þtVOR� MH� KRGQRWD� RULHQWDþQtKR� þtVOD� D� SRVOHGQt
DEHFHGQt�]QDN�MH�S tSDGQêP�SRGG OHQtP�þtVOD�RULHQWDþQtKR�

'RPpQD���'�29 (1Ë�Òý$671Ë.$
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
,QIRUPDFH��]GD�OL�E\O�~þDVWQtN�RY HQ�

0RåQp�YêVOHGN\�RY HQt�~þDVWQtND�SURWL�UHJLVWUX�VXEMHNW �QHER�SURWL�RSUiYQ QêP�VXEMHNW P�

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������QHRY HQ
����������������������������RY HQ�V\VWpPHP
����������������������������RY HQ�XåLYDWHOHP
����������������������������QHRY HQ�V\VWpPHP
����������������������������QHRY HQ�XåLYDWHOHP

'RPpQD���'�3$5�7<3(
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
3DUFHO\���W\S�

5R]OLãXMH�W\S\�SDUFHO�

0LQLPXP��������0D[LPXP�������9ê]QDP�
3.1�������������������������SDUFHOD�.1
3=(�������������������������SDUFHOD�=(

'RPpQD���'�3$5$0(75<�/,1,(
)RUPiW���9$5&+$5�
'pOND������
3RþHW�GHV�PtVW�
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3RSLV�
3DUDPHWU\�OLQLRYêFK�SUYN �W\SX�NUXKRYê�REORXN��NUXåQLFH��N LYND�

'RPpQD�SRSLVXMH�SDUDPHWU\�OLQLRYêFK�SUYN �W\SX�
��NUXKRYê�REORXN�
��NUXåQLFH�
��N LYND�

'RPpQD���'�3/$71e�'$780
)RUPiW���'$7(
'pOND�
3RþHW�GHV�PtVW�
3RSLV�
5R]VDK�SODWQpKR�GDWXPX�

'RPpQD���'�32'' /(1Ë�ýË6/$�3$5&(/<
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW�
3RSLV�
3RGG OHQt�þtVOD�SDUFHO\�

'RPpQD���'�323,6�32=1È0.$
)RUPiW���9$5&+$5�
'pOND������
3RþHW�GHV�PtVW�
3RSLV�
)RUPiW�GHOãtKR�SRSLVX���SR]QiPN\�

'RPpQD���'�323,6�32=1È0.$�'/28+È
)RUPiW���9$5&+$5�
'pOND�������
3RþHW�GHV�PtVW�
3RSLV�
)RUPiW�GHOãtKR�SRSLVX���SR]QiPN\�

'RPpQD���'�35$&29,â7 �5(62578�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�SUDFRYLãW �UHVRUWX�

'RPpQD���'�359.<�32'Ë/8
)RUPiW���180%(5
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
3UYN\�SRGtOX��þLWDWHO��MPHQRYDWHO��

3RGtO�YODVWQLFWYt�QD�.7��$.B9/$671,&79,���SRGtO�MHGQRWN\�QD�EXGRY ��$.B-('127.<�

'RPpQD���'�3 Ë-0(1Ë
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
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3RSLV�
3 tMPHQt�RE\YDWHOH�

=iNODGQt�LGHQWLILNDFH�RE\YDWHOH�

2EþDQ� Pi� SUiYR� D� SRYLQQRVW� XåtYDW� S tMPHQt� �UHVS�� URGQp� S tMPHQt��� NWHUêP� MH� ]DSViQ� Y
PDWULFH��9�S tSDG �]P Q\�S tMPHQt�MH�SRGNODGHP�YêSLV�]�PDWULN\�QHER�~ HGQt�GRNODG�R�]P Q
S tMPHQt�

6,6�ý5�Y�����

'RPpQD���'�3 Ë=1$.�.217(;78
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
3 t]QDN�NRQWH[WX�*3�
��������+LVWRUL]RYDW
��������=DFKRYDW
��������=SODWQLW

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������KLVWRUL]RYDW�SODWQê�VWDY
����������������������������]DFKRYDW�SODWQê�VWDY
����������������������������]SODWQLW�EXGRXFt�VWDY

'RPpQD���'�36ý
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
3RãWRYQt�VP URYDFt�þtVOR�

'DWRYê� SUYHN� SUR� þtVHOQp� Y\MiG HQt� VP URYDFtFK� ~GDM �� ]DMLã XMtFt� GRGiYiQt� ]iVLOHN� GR
REMHNWX�Y�ý5��QHER�VDPRVWDWQp�SRãWRYQt�VP URYDFt�þtVOR�S LG OHQp�RUJDQL]DFL�

�������
�������
�___��_�GRGDFt�VW HGLVNR
�___�REYRG��RNUHV
�__�VE UQê�~VHN
�_�SiVPR��NUDM�

6,6�ý5�Y�����

'RPpQD���'�5ý
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
5RGQp�þtVOR�

3UR� SURYHGHQt� YãHFK� NRQWURO� URGQpKR� þtVOD� MH� QXWQp� GR� 7$3,� GRSOQLW� NRQWUROX� SRPRFt
3$B8&$67B7$3,�52'1(B&,6/2B9$/�

'RPpQD���'�52',11é�67$9
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
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3RSLV�
5RGLQQê�VWDY�

5RGLQQê�VWDY�RVRE\�Y\MDG XMH��]GD�WDWR�RVRED�MH�VYRERGQi��åHQDWi��UR]YHGHQi��RYGRY Oi�
GUXK�� 3RGNODGHP� MVRX� YêSLV\� ]� PDWULN\�� UR]VXGHN�� NWHUêP� VH� UR]YiGt� PDQåHOVWYt�� ~PUWQt
OLVW��UR]VXGHN�VRXGX�R�SURKOiãHQt�]D�PUWYpKR�D�UR]VXGHN�VRXGX�R�SURKOiãHQt�PDQåHOVWYt�]D
QHSODWQp�

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������VYRERGQê�VYRERGQi
����������������������������åHQDWê�YGDQi
����������������������������UR]YHGHQê�UR]YHGHQi
����������������������������RYGRY Oê�RYGRY Oi
����������������������������GUXK�GUXåND

'RPpQD���'�6(.&(
)RUPiW���9$5&+$5�
'pOND�
3RþHW�GHV�PtVW�
3RSLV�
6HNFH�XUþXMtFt�XPtVW Qt�LQVWDQFH�QD�YêSLVX�

0LQLPXP��������0D[LPXP�������9ê]QDP�
&
'
���������������

'RPpQD���'�67È7�=.5È&(1é�1È=(9
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
=NUiFHQê�Qi]HY�VWiWX�

'DWRYê�SUYHN�SUR�]NUiFHQp�VORYQt�R]QDþHQt�VWiWX�Y�VHVWDYiFK�D�S HKOHGHFK��9\FKi]t�VH�]H
]NUiFHQpKR�þHVNpKR�Qi]YX�VWiWX�SRGOH�þtVHOQtNX�]HPt��-H�OL�]NUiFHQê�Qi]HY�VWiWX�Y�þtVHO�
QtNX�GHOãt��QHå�MDN�MH�XUþHQR�IRUPiWHP�]iSLVX��S HE\WHþQp�]QDN\�VH�LJQRUXMt�

ý61�,62������.yG\�SUR�Qi]Y\�]HPt�

6,6�ý5�Y�����

'RPpQD���'�67$9�'$7
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
6WDY�DNWXiOQRVWL�GDW�

3RSLVXMH�DNWXiOQRVW�GDW��PLQXORVW��S tWRPQRVW��EXGRXFQRVW��

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������S tWRPQRVW
����������������������������PLQXORVW
����������������������������EXGRXFQRVW
����������������������������SR L]RYiQ
����������������������������]UXãHQR�Y�S tWRPQRVWL

'RPpQD���'�67$9�*3
)RUPiW���180%(5
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'pOND����
3RþHW�GHV�PtVW����
3RSLV�
6WDY�*3�

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������UR]SUDFRYiQ
����������������������������]NRQWURORYiQ
����������������������������]SODWQ Q
����������������������������þiVWHþQ �]SODWQ Q

'RPpQD���'�67$9�=30=
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
6WDY�S LG OHQpKR�þtVOD�=30=�

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������SR L]RYiQ
����������������������������QDSOQ Q

'RPpQD���'�7(;7
)RUPiW���9$5&+$5�
'pOND�������
3RþHW�GHV�PtVW�
3RSLV�
3R]QiPND�YH�IRUP �YROQpKR�WH[WX�

'RPpQD���'�7,78/�3 ('
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
2]QDþHQt�WLWXOX�S HG�MPpQHP�REþDQD�

'DWRYê� SUYHN� SUR� ]NUiFHQp� R]QDþHQt� WLWXO �� DNDGHPLFNêFK� WLWXO �� DNDGHPLFNR�Y GHFNêFK
WLWXO ��þHVWQêFK�KRGQRVWt��S tS��G tYH�]tVNDQi�VWDYRYVNi�R]QDþHQt�D�RVWDWQt�WLWXO\�DEVRO�
YHQW �Y\VRNêFK�ãNRO�X�MPpQD�REþDQD�QHER�FL]LQFH�

'DWRYê�SUYHN�P åH�EêW� HW ]HF�YHONêFK�QHER�PDOêFK�StVPHQ��WHþHN��SRS ��þtVOLF�

=S VRE�SVDQt�WLWXO �]iYLVt�QD�]Y\NORVWHFK�VWiWX��NGH�E\O�WLWXO�XG OHQ��3 tNODG\�Q NWHUêFK
WLWXO � S HG� MPpQHP� MVRX�� �%F���� �0JU���� �,QJ���� �08'U���� �09'U���� �3K'U���� �'RF���
�3URI���� �'U�� K�F���� �-8'U���� �51'U���� �,QJ�� $UFK���� S LþHPå� Q NROLN� W FKWR� R]QDþHQt
WLWXO �P åH�EêW� D]HQR�]D�VHERX�D�]SUDYLGOD�VH�RGG OXMt�QDY]iMHP�D�RG�MPpQD�MHGQRX�PH]H�
URX��QDS ���3URI��51'U��,QJ��-DQ�+XUyQVNê���

6,6�ý5�Y�����

'RPpQD���'�7,78/�=$
)RUPiW���9$5&+$5�
'pOND�����
3RþHW�GHV�PtVW�
3RSLV�
2]QDþHQt�WLWXOX�]D�MPpQHP�REþDQD�

'DWRYê�SUYHN�SUR�]NUiFHQp�R]QDþHQt�Y GHFNêFK�KRGQRVWt�D�þHVWQêFK�KRGQRVWt��S tS��G tYH
]tVNDQi�VWDYRYVNi�R]QDþHQt�D�RVWDWQt�WLWXO\�DEVROYHQW �Y\VRNêFK�ãNRO�X�MPpQD�REþDQD�QHER
FL]LQFH�
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'DWRYê�SUYHN�P åH�EêW� HW ]HF�YHONêFK��QHER�PDOêFK�StVPHQ��WHþHN��SRS ��þtVOLF�

=S VRE�SVDQt�WLWXO �]iYLVt�QD�]Y\NORVWHFK�VWiWX��NGH�E\O�WLWXO�XG OHQ��3 tNODG\�Q NWHUêFK
WLWXO � ]D� MPpQHP� MVRX�� �'U���� �&6F���� �'U6F��� �WDWR� R]QDþHQt� MVRX� RG� MPpQD� ]SUDYLGOD
RGG OHQD�þiUNRX�D�MHGQRX�PH]HURX����%6����06����3K'���WDWR�R]QDþHQt�VH�]SUDYLGOD�Stãt�EH]
WHþN\� D� ]D� S HGFKi]HMtFtP� MPpQHP� QHEêYi� þiUND��� QDS �� �-DQ� +XUyQVNê�� &6F���� QHER� �-DQ
+XUyQVNê�3K'���

6,6�ý5�Y�����

'RPpQD���'�7<3�%8'29<�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
7\S�EXGRY\�

.yG�W\SX�VWDYE\�

'RPpQD���'�7<3�-('127.<
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
7\S�E\WRYp�QHER�QHE\WRYp�MHGQRWN\�

.yG�E\WRYp�QHER�QHE\WRYp�MHGQRWN\�

'RPpQD���'�7<3�/,67,1<�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�W\SX�OLVWLQ\�

'RPpQD���'�7<3�23(5$&(�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�SUR�W\S�RSHUDFH�

'RPpQD���'�7<3�3$5&(/<
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
7\S�SDUFHO\�Y�=(�
8�SDUFHO�VH�VNXSLQRYêP�þtVOHP�����XUþXMH�W\S�SDUFHO\��NWHUê�MH�HYLGRYiQ�Y�=(�

0LQLPXP��������0D[LPXP�������9ê]QDP�
����������������������������FHOi�SDUFHOD
����������������������������SDUFHOD�QHER�GtO�SDUFHO\�EH]�YêP U\
����������������������������VNXSLQD�SDUFHO

'RPpQD���'�7<3�35È91Ë+2�9=7$+8�.Ï'
)RUPiW���9$5&+$5�
'pOND����
3RþHW�GHV�PtVW�
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3RSLV�
7\S�SUiYQtKR�Y]WDKX�

'RPpQD���'�7<3�359.8�352672529é&+�'$7�.Ï'
)RUPiW���180%(5
'pOND�����
3RþHW�GHV�PtVW����
3RSLV�
7\S�SUYNX�SURVWRURYêFK�GDW�

.yG�SUYNX�SURVWRURYêFK�GDW�

'RPpQD���'�7<3�3 ('0 78� Ë=(1Ë�.Ï'
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
.yG�W\SX�S HGP WX� t]HQt�

'RPpQD���'�7<3� Ë=(1Ë�.Ï'
)RUPiW���9$5&+$5�
'pOND����
3RþHW�GHV�PtVW�
3RSLV�
.yG�SUR�W\S� t]HQt�

'RPpQD���'�7<3�628 $'1,&29e+2�6<67e08
)RUPiW���180%(5
'pOND����
3RþHW�GHV�PtVW����
3RSLV�
7\S�VRX DGQLFRYpKR�V\VWpPX��YH�NWHUpP�MH�]SUDFRYiQ�=30=�

'RPpQD���'�7<3�Òý$671Ë.$�.Ï'
)RUPiW���9$5&+$5�
'pOND����
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